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Sub-Section 1d: 167943619
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 1679439993 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Munni said to Babita, ““Your mother’s father’s only son-in-law is my brother.” How is Munni related to Babita’s
mother?

Options:
% Mother-in-law

« Sister-in-law
% Daughter

% Daughter-in-law

Question Number : 1 Question Id : 1679439993 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

% HIH
v TG
% dar

x &

Question Number : 2 Question Id : 1679439994 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Select the option that is related to the third term in the same way as the second term is related to the first term.

Lizard : Reptile : : Lily : ?
Options:

% Leaf

« Flower

% Brand
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% Actor

Question Number : 2 Question Id : 1679439994 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
38 Qe #1799 H A AW MeE § TE FAY @A ¢ AT GET UK TEor e § IWA gl

aererr « gy - ey ?
Options:

% Scdl

W N

% HT¥=ar

Question Number : 3 Question Id : 1679439995 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Select the option that is related to the third term in the same way as the second term is related to the first term.

6:42::8:72
Options:
% 064

# 48
o 72

% 88

Question Number : 3 Question Id : 1679439995 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
37 fweT #1 99a F S S8 oeE ¥ T8 Y I@AT § A GEY e g UAeE ¥ I@AT E

G Ul Sl
Options:

% 64


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda24T7

% 48
w12

% 88

Question Number : 4 Question Id : 1679439996 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Select the option that is related to the third term in the same way as the second term is related to the first term.

1550 B3 2d6 07
Options:
" 48

® 26

Question Number : 4 Question Id : 1679439996 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

37 RreeT #1 wa F AT A6 WMeg ¥ T8 HOY IW@AT ¢ S GET 2% TEel S § IWT g

135 : 15 : : 2
Options:

w 48
% 26
% 64

% 72

Question Number : 5 Question Id : 1679439997 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Three out of the four words below are similar in a certain way and one is different. Select the option that is different
from the others.

Options:
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% Lily
# Lotus
« Swan

% Lavender

Question Number : 5 Question Id : 1679439997 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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TTT H

Options:

x fererr

% T
v 8

xa?ﬁ%?

Question Number : 6 Question Id : 1679439998 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Bahadur starts from his home and goes straight towards North for 2 km. Then he turns right and goes for 4 km. Finally,
he turns left and goes for 1 km to reach the temple. To which direction is the temple located with respect to Bahadur’s
home?

Options:

« North-East
% South-East
% North-West

% South-West

Question Number : 6 Question Id : 1679439998 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

 3cat-qd

% m’?

% IcdI-9Te=rH

% CISIOT-uTees

Question Number : 7 Question Id : 1679439999 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Bahadur starts from his home and goes straight towards North for 2 km. Then he turns right and goes for 4 km. Finally,
he turns left and goes for 1 km to reach the temple. What is the shortest distance between Bahadur’s home and the
temple?

Options:
# 4.5km

« 3 km
# 7km

% 3.5km

Question Number : 7 Question Id : 1679439999 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

TEgY 3T WX F [Aeet @ 2 5l 3o FF av% Sar g1 O 37 @S A mEar € A 4
oI €1 3 H, 9 9% HR ST § AR AT o TgE & forw 1 R g% S §1 9@y F W AR
AR & &= wew w7 g e 87

Options:

% 4.5 AT

» b &HAr

% 7 AT
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% 3.5 f&T

Question Number : 8 Question Id : 16794310000 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Select the diagram that best represents the relationship among classes given below:

Cricketers, Batsmen, Bowlers

Options:

\'?f"?

®

OO

Question Number : 8 Question Id : 16794310000 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

A o 71w et & diw weut @ gew o R = anh we & e w3

Options:
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Question Number : 9 Question Id : 16794310001 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Six friends, Gullu, Pappu. Kallu. Mallu, Jolly and Dolly. are sitting around a circular table facing the centre, such that
each friend is seated exactly opposite another friend. Gullu does not sit next to Mall1 or Jolly. Kallu sits to Jolly’s
immediate right. Kallu is sitting opposite Mallu. Dolly is sitting to Mallu’s immediate right.

Between whom is Gullu sitting?
Options:

» Kallu and Pappu

% Jolly and Mallu

% Jolly and Dolly

% Pappu and Mallu

Question Number : 9 Question Id : 16794310001 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 10 Question Id : 16794310002 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Six friends, Gullu, Pappu, Kallu, Mallu, Jolly and Dolly, are sitting around a circular table facing the centre, such that
each friend is seated exactly opposite another friend. Gullu does not sit next to Mallu or Jolly. Kallu sits to Jolly’s
immediate right. Kallu is sitting opposite Mallu. Dolly is sitting to Mallu’s immediate right.

Who is sitting exactly opposite Gullu?

Options:
# Kallu

» Dolly
5 Jolly

% Mallu

Question Number : 10 Question Id : 16794310002 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

B¢ aIEd, T[ee], T, oo, Hool, SAlell AT Slell, Tk GH F HHA T PR aa W 98 ¢, =4 &
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Options:
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Question Number : 11 Question Id : 16794310003 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

e mrkfas st &, LITERAL & MJUFSBM fr@r sirar &1 38 &1 & PLUMBER & &3 forar

SATTET?
Options:

» QMVLADQ
» QNSNCDR
« QMVNCFS

x OKTNCFS

Question Number : 11 Question Id : 16794310003 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
In a code language, LITERAL is coded as MJUFSBM. How will PLUMBER be coded in that language?

Options:
« OMVLADQ

. QNSNCDR
» QMVNCFS

# OKTNCES

Question Number : 12 Question Id : 16794310004 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
If S’ means *+"; ‘&’ means **’; ‘(@ means ‘“—’; and ‘#" means "+, find the value of the following equation.

25658 &4#2@22="?

Options:
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« 108
# 148
# 128

# 104

Question Number : 12 Question Id : 16794310004 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Ay ‘¢ Agew ¢ §; & AGem * § ‘@ AGem = & @R ¥ Adew w ¥, O PwlfEe s &
TFT Fam|

256 $8& 4 #2@22=7
Options:

« 108
% 148
% 128

% 104

Question Number : 13 Question Id : 16794310005 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

A group of friends ran a race. M ran faster than N. N ran slower than P. P ran faster than Q. Q ran faster than M. R ran
faster than N but not as fast as M. Who among the following ran the fastest?

Options:
v P

x Q
# M

# N

Question Number : 13 Question Id : 16794310005 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
«FP

% Q
% M

% N

GET IT ON
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Question Number : 14 Question Id : 16794310006 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

What will come in place of the blank in the series?

80, 78, 74, 68, 60, 50,

Options:
# 40

Question Number : 14 Question Id : 16794310006 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

s@er 7 &g TUT W F41 g

80, 78, 74, 68, 60, 50,

Options:

# 40

% 36

% 42

o 38

Question Number : 15 Question Id : 16794310007 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25
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Select the option that will correctly replace the question mark (?) and complete the series.

8 7 9 6 4 13

Options:
® 25

® 29

Question Number : 15 Question Id : 16794310007 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

39 fareT & =9 F S 9o REa (7) # §E & § Aowuia FEn 3R g%@er F R HE

8v’? 9\/6 4\/13
28 27 ?

Options:

% 25

% 29
26

% 28

Question Number : 16 Question Id : 16794310008 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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In this question, two statements are given, which are followed by two conclusions numbered 1 and 2. Take the given
statements to be true even if they seem to be at variance from commonly known facts. Read the conclusions and then
decide which of the given conclusions logically follow(s) from the given statements, disregarding commonly known
facts.

Statements:
All hints are answers.
Some answers are questions.

Conclusions:
1. All questions are hints.
2. Some hints are questions.

Options:
% Only conclusion | follows.

% Only conclusion 2 follows.

« Neither conclusion 1 and 2 follows.

% Both conclusions 1 and 2 follow.

Question Number : 16 Question Id : 16794310008 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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, Y 1 vF 2 T e = g

Question Number : 17 Question Id : 16794310009 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The statement below is followed by two arguments labelled I and II. Read the arguments in relation with the statement

and identify the strong argument.
Statement: Children under the age of 18 years should not be emploved anywhere.
Argument I: The government should provide free food to all citizens who cannot afford it.

Argument IT: Many families depend on the income of young adults from 14 to 18 years of age, and 14 is a good age to
start earning in non-hazardous sectors.

Options:
% Only argument 1 is strong.
» Only argument II is strong.

% Both arguments I and II are strong.

« Either argument I or argument II is strong.

Question Number : 17 Question Id : 16794310009 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 18 Question Id : 16794310010 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The statement below is followed by two conclusions labelled I and II. Assuming that the information in the statement is
true, even if it appears at variance from generally established facts, decide which conclusion(s) logically and definitely
follow(s) from the information given in the statement.

Statement: After giving up her medical practice of 35 years in the city hospital, Usha decided to learn classical dance.
Conclusion I: Usha is a medical practitioner who is passionate about dancing.

Conclusion IT: Usha has stopped going to the hospital to see patients.
Options:
% Only conclusion I follows.

% Only conclusion IT follows.

+ Both conclusions I and II follow.

% Either conclusion I or conclusion II follows.

Question Number : 18 Question Id : 16794310010 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 19 Question Id : 16794310011 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Study the following scenario (situation) and answer the question that follows.

You are baking a cake with vour school-going nieces and nephews and suddenly one of them breaks a glass vessel.
Select the option that describes the most appropriate action that yvou will take in this situation.

Options:
% Yell at the child, ask evervone to leave and stop baking the cake.

Call the concerned child’s parents and complain to them about the loss caused and ask them to compensate
« immediately.

% Drop another vessel and break it and start laughing to make the child feel good.

» Ask all children to be careful in handling glass and other material and clean the glass shards immediately.

Question Number : 19 Question Id : 16794310011 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

fofafe ofteew (Bufd) &7 srewoe =¥ 3k &= 937 &7 3007 &
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Options:
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Question Number : 20 Question Id : 16794310012 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

In this question, two statements labelled I and IT are given. Read both the statements and decide which option correctly
shows the relationship between these given statements.

Statement I: The refrigerator is stinking like a dead fish.

Statement II: The refrigerator is full of stale food and there has been a power cut for the last 10 hours.
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Options:
% Statement I is the cause and statement II is its effect.

" Statement II is the cause and statement I is its effect.

» Both the statements I and IT are independent causes.

» Both the statements I and II are effects of independent causes.

Question Number : 20 Question Id : 16794310012 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
57 T A, | T || 0 o Tu B 7w § 3 fust @ 9 3k a7 & #iF @1 TEew == T
T ¥ & €19 & HEY W HET 9T AT 2
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Options:
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General Awareress
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Group Id : 167943283
Group Maximum Duration : 0

Group Minimum Duration : 0

Revisit allowed for view? : No

Revisit allowed for edit? : No

Break time: 0

Group Marks: 20

General Awareress
Section Id : 167943342
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Section type: Online
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Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number : 1
Sub-Section 1d: 167943620
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 16794310013 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The number of delegates who attended the first session of the Indian National Congress in 1885 was:

Options:
® 121

o 72

L

® 7

% 88

Question Number : 21 Question Id : 16794310013 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
1885 H aTdIT TSEIT FEF & Ugd §F H 49T o 9T Siafaredr Hr gEar o

Options:

% 121

w12

% /5

% 88

Question Number : 22 Question Id : 16794310014 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The Mughal Emperor Jahangir issued a charter to the East India Company for establishing the trade establishments in
India in the year:

Options:

# 1620
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# 1729
# 1741

« 1617

Question Number : 22 Question Id : 16794310014 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
T THIE FEEIN & 9Rd H A Fiasarsr H1 Farder & O e 5w 9 @ w9 ST |
I¥ H Fdr BT ar?

Options:

% 1620
% 1729
% 1741

« 1617

Question Number : 23 Question Id : 16794310015 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
was the first Muslim President of Indian National Congress.

Options:
% Dadabhai Naoroji

» Badruddin Tyabji

% Abul Kalam Azad

% Nawab Syed Mohammed Bahadur

Question Number : 23 Question Id : 16794310015 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
AR T FEE F Igo HiFad HewsT o

Options:

. CIEreTs AR
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Question Number : 24 Question Id : 16794310016 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which is the largest district in India in terms of area?

Options:
« Kachchh

% Jaisalmer
% Barmer

# Leh

Question Number : 24 Question Id : 16794310016 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

STFT i TT T 9T F FIY T forem FiT 7T 2
Options:
 hTs

%m
% ¥

Question Number : 25 Question Id : 16794310017 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Which state in India has the largest area under forest cover?
Options:

% Chhattisgarh
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» Madhya Pradesh
% Odisha

% Arunachal Pradesh

Question Number : 25 Question Id : 16794310017 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

AT # 8 T=T F1 999 37 &5 3419 &85 F dgd A 272
Options:

v T 98T
% 3f2ar

« 3O 9ol

Question Number : 26 Question Id : 16794310018 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The state of has a bicameral legislature (consisting of two houses).

Options:
% West Bengal

« Uttar Pradesh
% Himachal Pradesh

% Madhya Pradesh

Question Number : 26 Question Id : 16794310018 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
T=T H UF ElaueAr FuA-gar (Fad = g onfae §) 2
Options:

% 9T9EH T
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Question Number : 27 Question Id : 16794310019 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
As of May 2018, the total number of members of the Rajya Sabha is:

Options:
® 255

Question Number : 27 Question Id : 16794310019 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
AS 2018 TF, USTWST & WEFA HT Fol HEIT g:

Options:

% 255

x 252

% 260

v 245

Question Number : 28 Question Id : 16794310020 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
According to Article 280 of the Indian Constitution. constitutes the Finance Commission of India.

Options:
% the Prime Minister of India

+ the President of India
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% the Chief Justice of India

% the Attorney-General for India

Question Number : 28 Question Id : 16794310020 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

TR WU F 3=0e 280 F AR, TRT & Feq 3mEeT # TeA FA g
Options:
« AT & FUTAHAT

» ¥R @& Tegufd

. AR & T AT

« T & HAgIIae)

Question Number : 29 Question Id : 16794310021 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
What was the estimated volume of Rice production in India in 2016-17?

Options:
+ 108.86 million tonnes

% 42.95 million tonnes
% 12.95 million tonnes

% 142.86 million tonnes

Question Number : 29 Question Id : 16794310021 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
2016-17 #H g H I19a & 39EH &T 31@H|ﬁ-td HTST Far or?

Options:

~ 108.86 A= &1

x 42.95 P IEE G
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Question Number : 30 Question Id : 16794310022 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
In which vear was the NITI Aayog formed?

Options:
® 2012

# 2013
o 2015

® 2017

Question Number : 30 Question Id : 16794310022 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

AfS 3T F oTea e a§ 7 B ar ar?
Options:

% 2012
% 2018
« 2015

% 2017

Question Number : 31 Question Id : 16794310023 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following pairs of a religious group and their place of worship is CORRECTLY matched?

Options:
» JeWs — Synagogue

% Hindus — Pagoda

% Buddhists — Fire Temple
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% Parsis — Mosque

Question Number : 31 Question Id : 16794310023 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Frfof@a 7 ¥ #i7 ¥ ve aiffis wag 3R 386 = Tue & 8@ fere fEar amar g2

Options:

T - R
Q%'g-q?ﬂa

% TET - ATEAS

Question Number : 32 Question Id : 16794310024 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Which monument was widely hailed as the finest specimen of Indo-British architecture in India, and was called the “Taj
of the Raj’?

Options:
» Victoria Memorial Hall, Kolkata

% The Salar Jung Museum, Hyderabad
« Indian Museum, Kolkata

w National Museum. New Delhi

Question Number : 32 Question Id : 16794310024 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

AT H dRa-ffeer aegeer & gl 707 F ¥ H 5@ TIRE #F @ve 9 ¥ FFATAT T T
oT, T W TS FT T Fgl SAar Aar?

Options:

» i aafTe gid, Fieear
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Question Number : 33 Question Id : 16794310025 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The largest pyramid in Egypt is:
Options:

» The Great Pyramid of Giza

% Osiris
# Ra

% Sphinx

Question Number : 33 Question Id : 16794310025 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

e & g T3 Tfas &
Options:

» =T FT ErRre mfas

% AT

% 0

wﬁm'

Question Number : 34 Question Id : 16794310026 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The 2018 ICC T20 Cricket World Cup for Women will be held in:
Options:

% New Zealand

% Bangladesh

# SriLanka
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« West Indies

Question Number : 34 Question Id : 16794310026 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
HigamaiT 1 3EAET €120 forere TeT F9 2018 Fer Jafag fFar smwem?

Options:

g=oiE

® o
« ST
% SNeTehT

o I =B/

Question Number : 35 Question Id : 16794310027 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
‘Stephen Fleming” has been associated with which franchise in Indian Premier I eague cricket tournament?

Options:
% Mumbai Indians
» Chennai Super Kings

» Kolkata Knight Riders

% Roval Challengers Bangalore

Question Number : 35 Question Id : 16794310027 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
mm%ﬁmgﬁ#mﬁmﬁﬁm'ﬁmwﬁw;ﬁ?ﬁ
Options:

, ¥7% R frw

» TPICTeRIT ATSE TSSH
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Question Number : 36 Question Id : 16794310028 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following elements is stored in kerosene oil because of its volatile nature?

Options:
+« Sodium

% Magnesium
% Aluminium

% Platinum

Question Number : 36 Question Id : 16794310028 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
afafaa & @ #i7 @ a7 suH Suarnie 56T F FRor FT a0 § FIET Far S 2

Options:

g"«:ﬂﬁm

% CofeaAH

Question Number : 37 Question Id : 16794310029 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Where was the first SAARC summit held?
Options:

% Lahore

% New Delhi

% Kathmandu

« Dhaka
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Question Number : 37 Question Id : 16794310029 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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+
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Question Number : 38 Question Id : 16794310030 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following is a scheme launched to promote wealth and energy from waste?

Options:
% Kura-Dhan

% Antim-Dhan

% Sampada-Dhan

« Gobar-Dhan

Question Number : 38 Question Id : 16794310030 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
_ chel-Eo]
E -
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Question Number : 39 Question Id : 16794310031 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The name of the interactive humanoid launched by HDFC Bank in May 2018 is:

Options:
# EXZ 4.0

# TSY 9.0
« IRA 2.0

# ATA 6.0

Question Number : 39 Question Id : 16794310031 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
HZ 2018 H TwEIUHAT d% GERT Few [T T gl gHASS # A &

Options:

x EXZ 4.0
x TSY 9.0
« IRA 2.0

» ATA 6.0

Question Number : 40 Question Id : 16794310032 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The 15% Pravasi Bharatiya Divas will be celebrated in:

Options:
% April 2018
w January 2019

« August 2018

% February 2019

Question Number : 40 Question Id : 16794310032 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 41 Question Id : 16794310033 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

A number when divided by the sum of 555 and 445 gives two times their difference as quotient and 120 as remainder.
What will be the remainder if the number is divided by 55037

Options:
# 8
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Question Number : 41 Question Id : 16794310033 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

% 8

Question Number : 42 Question Id : 16794310034 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
2222X0.017775%2.25 12.25%0.219x12.4 |

— is simplified to:
35.55%0.2025%55.55  2.48X0.511X0.21

The expression

Options:
% 3.7

Question Number : 42 Question Id : 16794310034 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

* 222.2X0.017775x2.25 12.25%0.219x%x12.4

- X HI TIA A qred HTeT &40 ?
35.55%0.2025%55.55 2.48x0.511x0.21 W Lol 9 o grem

Options:
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Question Number : 43 Question Id : 16794310035 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

x
I (5) X(25)2x(125) s =(V/5)°", then the value of x is:

(5)~*x(625)*+2x(3125) 5

Options:
14
W 3

Question Number : 43 Question Id : 16794310035 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

X
4x-5 5 Xk E"?
(5) x(25)2x(125) Ez( .-'_5)6+x g ar x & AT FAT 2

(5)~*x{625)*+2x(3125) 5

Options:
14

o 3

Question Number : 44 Question Id : 16794310036 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong: 0.25
A student was asked to simplify the following:

2 S | fl 1 2 3 5
ey ey S oo 1
2 3 4 5 R T | [+]
1) f (D) T Lae of 6
Z2 3 4 5 2478

; = L : :
His answer was PR, What is the difference between his answer and the correct answer?

Options:
40
# 3

%
e |5

%
w | &

Question Number : 44 Question Id : 16794310036 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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s A ) i &3 5
1111 235 .
2 3 4 5 3 4 ]
C o=l 2R Pro-
23 4 5 346
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Options:
40
® 3

%
e |5

%
b

W 9

Question Number : 45 Question Id : 16794310037 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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: . . : . - : .40
Three fractions are written in ascending order. When smallest of these is divided by the greatest fraction, the result is =

b ; ; 2 3 ; : 25 ;
which is smaller than the middle fraction by g If the sum of the three fractions is 2 ol then what is the smallest
fraction?
Options:

5
o 7

4
7

s
ool ~

~1| O

Question Number : 45 Question Id : 16794310037 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
5
o 7

4
7

~1| on

Question Number : 46 Question Id : 16794310038 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
If 351, 524 and 697 are divided by the greatest number a . the remainder in each case is b . What is the value of

(a—11b)?
Options:
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# 113
# 115
« 118

# 121

Question Number : 46 Question Id : 16794310038 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
ofg gEarat 351, 524 AT 697 F UF HOFIH IETT o ¥ Fanfag Brar 33 at g2 e J 9w b
9ea g gl (a — 11b) T Al 4T g

Options:

# 113
% 115
« 118

% 121

Question Number : 47 Question Id : 16794310039 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Let x be the least number which should be subtracted from 5000 so that the resulting number when divided by 8, 10, 12

and 15 leaves the same remainder 3 in each case. When x is divided by 14, the remainder will be:

Options:
# 10

® 9
# 8

7

Question Number : 47 Question Id : 16794310039 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

I x 9 §a9 o §Ear ¢ 59 5000 ¥ g9 9T 9og §EAT & 8, 10, 12, 15 ¥ Fawieg A W
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Options:
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Question Number : 48 Question Id : 16794310040 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Anil saves 35% of his income. If his income increases by 30% and he now saves 40% of his income, then what is the
percentage change in his expenditure?

Options:
% Decrease, 20%

 Increase, 20%
% Decrease, 10%

g Increase, 10%

Question Number : 48 Question Id : 16794310040 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

HFST 3T 3T 9T 35% HT 99 FaT gl TS FHR T 30% ¥ 9% AT AT /T I HT W 40% Fr
g99 L O 30F =¥ H Faa gfaea s aiwgs g

Options:

% 20% T FAT

» 20% #Fr g

% 10% r FHAT

. 10% &r iz

Question Number : 49 Question Id : 16794310041 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The ratio of the number of girls in two classes A and B is 2 : 3 and the rafio of the total number of students in A and B is

5 : 7. If the number of boys in B is 2 of the number of girls in B, then what is the ratio of the number of boys in A and B?
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Options:
# 10:13
# 9:11
® 12:17
«11:14

Question Number : 49 Question Id : 16794310041 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

aFmHANRBA BT F a2 3R A FI oA F 3FNa 5: 781 T B &
@m@mwﬁsgm#mmgamAmsﬁmmmmy

Options:

x 10 : 13
%9 H
% 1247
<11 : 14

Question Number : 50 Question Id : 16794310042 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
An article was marked 30% above the cost. A discount of 5% was offered on the marked price of the article. Later, the
article was sold by allowing another cash discount of T140 and still a profit of 20% was obtained. The marked price of

the article was?
Options:
® T4810

% T 4940
« < 5200

% X 5460

Question Number : 50 Question Id : 16794310042 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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fadlr aFq & AT FETT § 30% IMEr Hiea H A gl 3FT 7o W 5% ge off & S gl ;g A
2140 &1 Ffaftea O ST 95 & 99 W 20% H Fe A 9Ied gar gl TG F AlFT ToT = g2

Options:

% T 4810
% T 4940
« X 5200

% T 5460

Question Number : 51 Question Id : 16794310043 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

A sum invested at compound interest amounts to ¥ 6272 in two years and T 7024.64 in 3 years, at a certain rate
percentage per annum, when the interest is compounded yearly. The same sum will amount to what at the same rate in

1 i : ?
5 S years, when invested on simple interest?

Options:
% I 8190

% < 8200
% X 8280

« < 8300

Question Number : 51 Question Id : 16794310043 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

et 9fy a¥ Igfy sos i @7 W BT P gl 2 aut & T 6272 ik 3 aut F T7024.64 @

m?ﬁ%lsﬁrﬁwaﬁﬂmﬁﬁ#r%aﬁ#ﬁwmmmmmmﬁgﬁm
o= g gem?

Options:

% T 8190
% I 8200
% I 8280

« 3 8300
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Question Number : 52 Question Id : 16794310044 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A hollow metallic sphere of internal and external radii 6 cm and 9 cm, respectively, is melted and recast into a cone of

base radius 6 cm. The curved surface of the cone (in cm?) is (nearest to an integer):

Options:
% 342n

« 344n
% 3487n

% 3467

Question Number : 52 Question Id : 16794310044 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

TF W@ T ey fr waks AR ey s w6 d8nieT Ak 9 i 1 aFt #r

Treremert 6 AT 3R B2 are v o H @i T gl AF 9 Ioe awe (Reery ot FEa A)
T grem?

Options:

% 3421
344
# 348

# 3461

Question Number : 53 Question Id : 16794310045 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Places A and B are 160 km apart on a highway. One car starts from A and another from B at the same time. If the cars
travel in the same direction at a constant speed, they meet in 5 hours. If the cars travel towards each other, they meet
after 1.6 hours. What is the speed (in km/h) of the car that travels faster?

Options:
# 60
# 64
" 60

w 70
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Question Number : 53 Question Id : 16794310045 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
ATTTAINRBTHETTAT NG M T 160 i T F H TFT A FFRAT IR T
T FR BT T d gl I el s R s Rag I A T T FAT e ST I 5 0 H T
A ¥ Ao § AR ofe F ve-gm T S T AT 8, ar 7 1.6 Ul & a1 Bedr 8l g= el F
T 9 oA Tl FR T A (Brerdeygen) # w21 27

Options:

% 60

% 64
« 66

% 70

Question Number : 54 Question Id : 16794310046 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

A, B and C can do a piece of work in 30 days, 90 days and 60 days, respectively. They together started the work but A
left 12 days before the completion of the work and B left 6 days before the completion of the work. In how many days
was the work completed?

Options:

# 20

« 24

Question Number : 54 Question Id : 16794310046 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

A, B 3T C waer 30 T, 90 =T 3R 60 = F e #7197 1 U #X TFA €| 3eE U TY FA
% forar ofsa & U dw ¥ 12 7 w8 A 3R w1\ U @9 ¥ 6 G wee B F w1 oier G aw
FH O g H e fem werem?

Options:

% 20

« 24
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% 25

% 30

Sub-Section Number:
Sub-Section Id:
Question Shuffling Allowed :

2

167943622

Yes

GET IT ON
Google Play

Question Id : 16794310047 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension

Questions: No

Question Numbers: (55 to 56)
Cuesticon Label | Comprehension

Study the following pie chart and table and answer the questions that

follow.

Percentage breakup of Students annearedin Class X
examinaion from different schools in 2016

Total number of students appeared = 3200

Sub questions

HA mB mC 0

O mE

Ratio of Boys and Girls

School | Boys : Girls
A 3:4
B Lk
& 5:4
D =3
H Tl

Question Number : 55 Question Id : 16794310048 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The total number of girls who appeared in the

examination is what per cent of the total number of
boys who appeared in the examination (nearest to an

integer)?

Options:
® 102
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« 111
® 92

% 90

Question Number : 56 Question Id : 16794310049 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
What is the ratio of the total number of boys who
appeared from school C and E to the total number of
girls who appeared from school B?

Options:
x 21:23

% 22:23

Question Id : 16794310047 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (55 to 56)
Cesticn Label | Comprehiension
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o TE-Te 3T 9 F FeTT HY AR T 9T
F IeaT &

2016 # =em X Fr gfew #F e oEt & gfadees e

BE IR IENH B AU

fgen | om: o
A 3:4
B 2
C 5: 4
D 11:8
E 7:9

mA B mC =D mE

witen # JufRa omEel @ $a Ten=3200

Sub questions

Question Number : 55 Question Id : 16794310048 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

ol # 3ufud ot $r Fo FEar e
# 39TPYT Fo oHEI/ESH TEAT H haaT
sioerd g (Feresr o 7)?

Options:

% 102
« 111
% 92

% 90

Question Number : 56 Question Id : 16794310049 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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faearers C 3R E & e & 3uieyd 5o
oTEI/ASH AR Tpel B § 3LV OIETAT #r
T HEAT T A FT &7

Options:
w21 28
%22 .28
v 23 : 24
%23 .28

Sub-Section Number: 3
Sub-Section 1d: 167943623
Question Shuffling Allowed : Yes

Question Id : 16794310050 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (57 to 58)
Cuestion Latbel COI‘I‘lpI"EhEI‘lSiOH

Study the following graph and answer the questions that follow.

Income—Expenditure

Percent Profit = X 100

Expenditure

Percent profit earned by two companies A and B over the
years

80

70

&0 e COMPpany A =—ge=Company B 55
50 :
40
30
20
10

Percent Profit

2011 2012 2013 2014 2015

Years

Sub questions
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Question Number : 57 Question Id : 16794310051 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

If the income of company A in 2014 was equal to its
expenditure in 2015, then what was the ratio of its
respective incomes in these two years?

Options:
# 4:5

3

4
h
|

Question Number : 58 Question Id : 16794310052 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

In 2012, the income of company B was ¥ 635 crores.
What was its expenditure (in ¥ crores) in that year?
Options:

% T 40

® 345
% <48

+3T50

Question Id : 16794310050 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (57 to 58)
Juestion Label - Comprehension
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o TF &7 3eTTa FY HY T T F Ieaw &

HIT -4
arerafaea = ——— x 100
g

a9 & ofd § HUAT A 3R B BT @ Ufawa

20
70
B0 5L
r »
=0 g COMpany A vfj
i 40
40 30 an Mf/::/
30 25 Iy = o
P— i S (/‘N\V;‘f
i w___,_.-—--"'" 10 i
o, I
10 15 20 g—
0
2011 2012 2013 2014 2015

Sub questions

Question Number : 57 Question Id : 16794310051 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Ife 2014 F FU=Ar A Fr 31T 2015 H 355
T % suaT o, Of 81 g I & wefog Hg
T AT FAT UT?

Options:
x4 :5
w5 :7
6 :7
®x 7 :8

Question Number : 58 Question Id : 16794310052 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

2012 H F94r B &1 317 T 65 FUg o 34T
I 3H FIAT F 7T (3 T H) FqT UT?

Options:

% T 40
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% I 45

% I 48

» I 50

Sub-Section Number: 4
Sub-Section I1d: 167943624
Question Shuffling Allowed : Yes

Question Id : 16794310053 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (59 to 60)
Cuesticon Label | Comprehension

Study the following bar graph and answer the questions that follow.

Revenue and Expenditure of Company ABC Pvt Ltd
(in ¥ crores)

90
90 BS
80 ® Revenue B Expenditure 75 80 74 16
20 6B
&0
&0 55
52 &0

50 45
a0
30
20
10

0

2010 2011 2012 2013 2014 2015
Years
Sub questions

Question Number : 59 Question Id : 16794310054 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

In how many years was the profit of the company
more than 16%?

Options:
% 2

3
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Question Number : 60 Question Id : 16794310055 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
If the revenues in 2014 and 2016 were the same. then
by what approximate percentage should the
expenditure in 2016, when compared with that in
2014, be reduced to make a profit of 40% in 20167

Options:
# 20.8%

# 21.4%
# 21.6%

 22.8%

Question Id : 16794310053 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (59 to 60)
Cuesticon Label | Comprehiension

A M@ T aTTa S IR A At F 3w &

ABC T fRiftRe oY oima ik o
(XTASH)

80
o = a0
edildd = 75 4 75
GE
el 55
52 50

50 45
40
30
20
10

[i]

2010 2011 2082 2013 2014 2015

Ty

E 288

Sub questions

Question Number : 59 Question Id : 16794310054 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

fohaer ISt & F9aT &1 o1 16% & =IIeT ar?
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Options:

% 2
v 3
% 4

% 5

GET IT ON
Google Play

Question Number : 60 Question Id : 16794310055 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

Ife 2014 3T 2016 F HFH A o7 &
2014 #r =T # 2016 F =77 # =
giaeg Fr 3 fr I & 39 3§ 7 g
40% g Jm?

Options:

% 20.8%

% 21.4%
% 21.6%

« 22.8%

eneral English

Group Number :

Group Id:

Group Maximum Duration :
Group Minimum Duration :
Revisit allowed for view? :
Revisit allowed for edit?:
Break time:

Group Marks:

4
167943285
0

0

No

No

0

20

eneral English

Section Id :

Section Number :

Section type:
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Number of Questions:

Number of Questionsto be attempted:

167943344
1
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Mandatory
16
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Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 167943625
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 16794310056 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Select the most appropriate option to fill in the blanks.

When people who do not have advantage of privileged background score relatively less marks in
examination, they are condemned as unfit for jobs.
Options:
w an ; the
o the :a

% the ; no word required

% ho word required ; a

Question Number : 61 Question Id : 16794310056 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Select the most appropriate option to fill in the blanks.

When people who do not have advantage of privileged background score relatively less marks in
examination, they are condemned as unfit for jobs.
Options:
% an ; the
w the :a

% the ; no word required

% 1o word required ; a

Question Number : 62 Question Id : 16794310057 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Select the most appropriate option to fill in the blanks.

Air pollution has become a concern not only reasons of the health of common man, but also for the danger it
poses several monuments like the Taj Mahal.

Options:
» for: to

% in ; for
% o 1o

% for;in

Question Number : 62 Question Id : 16794310057 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Select the most appropriate option to fill in the blanks.

Air pollution has become a concern not only reasons of the health of common man, but also for the danger it
poses several monuments like the Taj Mahal.

Options:
» for:to

% in ; for
% to 1o

% for;in

Question Number : 63 Question Id : 16794310058 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Select the most appropriate option to fill in the blank.

I was stuck at the office with my boss. I missed the dinner with my friends.
Options:

# Moreover

# However

+« Hence

# Furthermore
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Question Number : 63 Question Id : 16794310058 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Select the most appropriate option to fill in the blank.

I was stuck at the office with my boss. I missed the dinner with my friends.

Options:
% Moreover

#w However
« Hence

# Furthermore

Question Number : 64 Question Id : 16794310059 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Select the most appropriate option to fill in the blank.

Person A: Will you ask the colony guard to keep an eye on your apartment while you are away?
Person B: I 50 TOMOITOW.

Options:
% have done

« will do
% am doing

% do

Question Number : 64 Question Id : 16794310059 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Select the most appropriate option to fill in the blank.

Person A: Will you ask the colony guard to keep an eye on your apartment while yvou are away?
Person B: I 50 TOMOITOW.

Options:
% have done

« will do
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% am doing

% do

Question Number : 65 Question Id : 16794310060 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Select the most appropriate synonym of the given word.

COARSE
Options:
% polished

» fough
# smooth

% silken

Question Number : 65 Question Id : 16794310060 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Select the most appropriate synonym of the given word.

COARSE
Options:

% polished
» rough
% smooth

% silken

Question Number : 66 Question Id : 16794310061 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Select the most appropriate synonym of the given word.

DILEMMA
Options:
% condition
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« WOITY

« confusion

# ImMeasure

Question Number : 66 Question Id : 16794310061 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Select the most appropriate synonym of the given word.

DIL EMMA
Options:
% condition

% WorIry

« confusion

# Imeasure

Question Number : 67 Question Id : 16794310062 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Select the most appropriate antonym of the given word.

DISMANTLE
Options:
« assemble

» destroy

# grase

# raze

Question Number : 67 Question Id : 16794310062 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Select the most appropriate antonym of the given word.

DISMANTLE
Options:
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+ assemble
% destroy

# ecrasc

#® razc

Question Number : 68 Question Id : 16794310063 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Select the word which is NOT an antonym of another word by way of adding a prefix.

Options:
% unbiased

% unafraid

» undergo

% unavoidable

Question Number : 68 Question Id : 16794310063 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Select the word which is NOT an antonym of another word by way of adding a prefix.

Options:
% unbiased

% unafraid

» undergo

% unavoidable

Question Number : 69 Question Id : 16794310064 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Fill in the blank with the most appropriate phrase.

The commissioner assured the traders that he would the maftter.

Options:
« look into
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% lookup
% look out

% look at

Question Number : 69 Question Id : 16794310064 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Fill in the blank with the most appropriate phrase.

The commissioner assured the traders that he would the matter.

Options:
« look into

% lookup
% look out

% look at

Question Number : 70 Question Id : 16794310065 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Select the option that gives the most appropriate meaning of the underlined idiom in the given context.

The grandmother kept an eye on the children while doing her work.

Options:

» kept looking at
% refused to see

» kept a watch

% attracted the attention of

Question Number : 70 Question Id : 16794310065 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Select the option that gives the most appropriate meaning of the underlined idiom in the given context.

The grandmother kept an eye on the children while doing her work.

Options:
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« kept looking at
# refused to see

» kept a watch

% attracted the attention of

Question Number : 71 Question Id : 16794310066 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Fill in the blank with the most appropriate option.

These books cost less than the others. In fact, they are quite

Options:
% costly

% €Xpensive
% low

» cheap

Question Number : 71 Question Id : 16794310066 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Fill in the blank with the most appropriate option.

These books cost less than the others. In fact, they are quite

Options:
% costly
% exXpensive

% low

» cheap

Question Number : 72 Question Id : 16794310067 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Fill in the blank with the most appropriate option.
work is more enjoyable than compulsory work.

Options:
w lemporary

» Voluntary

% Mechanical

% Slavish

Question Number : 72 Question Id : 16794310067 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Fill in the blank with the most appropriate option.

work is more enjoyable than compulsory work.

Options:
w lemporary

» Voluntary

% Mechanical

# Slavish

Question Number : 73 Question Id : 16794310068 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Select the sentence that is meaningful and grammatically correct.

Options:

» Gina Hespel has become the first female director of the CIA.
% The first female director of the CIA Gina Hespel has become.
% Director of the CIA Gina Hespel has become the first female.

« Director of the CIA the first female Gina Hespel has become.
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Question Number : 73 Question Id : 16794310068 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.25

Select the sentence that is meaningful and grammatically correct.

Options:

» Gina Hespel has become the first female director of the CIA.
% The first female director of the CIA Gina Hespel has become.
% Director of the CIA Gina Hespel has become the first female.

« Director of the CIA the first female Gina Hespel has become.

Question Number : 74 Question Id : 16794310069 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

Select the sentence that is meaningful and grammatically correct.

Options:

% The art of weaving, once practised, is dying in almost every house of Laddakh.

% The art of weaving is dying, once practised in almost every house of Laddakh.

» The art of weaving, once practised in almost every house of Laddakh. is dying.

% Once practised, the art of weaving in almost every house of Laddakh, is dying.

Question Number : 74 Question Id : 16794310069 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

Select the sentence that is meaningful and grammatically correct.

Options:

% The art of weaving, once practised, is dving in almost every house of Laddakh.

% The art of weaving is dying, once practised in almost every house of Laddakh.

» The art of weaving, once practised in almost every house of Laddakh , is dying.

% Once practised, the art of weaving in almost every house of Laddakh , is dving.

Question Number : 75 Question Id : 16794310070 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25
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Select the sentence that is meaningful and grammatically correct.

Options:
The Cubana Airlines blames Cubana on lack of airplane parts due to US trade embargo which is notorious for its
w frequent delays and cancellations.

The Cubana Airlines is notoricus US trade embargo for its frequent delays and cancellations due to which Cubana
« blames on lack of airplane parts.

The lack of airplane parts due to US trade embargo which Cubana blames on Cubana Airlines is notorious for its
« frequent delays and cancellations.

The Cubana Airlines is notorious for its frequent delays and cancellations which Cubana blames on lack of airplane
 barts due to US trade embargo

Question Number : 75 Question Id : 16794310070 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Select the sentence that is meaningful and grammatically correct.
Options:

The Cubana Airlines blames Cubana on lack of airplane parts due to US trade embargo which is notorious for its
w Trequent delays and cancellations.

The Cubana Airlines is notoricus US trade embargo for its frequent delays and cancellations due to which Cubana
« blames on lack of airplane parts.

The lack of airplane parts due to US trade embargo which Cubana blames on Cubana Airlines is notorious for its
« Irequent delays and cancellations.

The Cubana Airlines is notorious for its frequent delays and cancellations which Cubana blames on lack of airplane
 barts due to US trade embargo

Sub-Section Number: 2
Sub-Section Id: 167943626
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Read the following passage and answer the questions that follow:

The frst medicme designed to preventmigrames was approved by the Food and
Drug Admmsstration on T hursday, ushering m whatmany experts believe will
be a new erain treatment for people who suffer the most severe form of these
headaches.

Thedrug, Aimovie, made by Amgen and Novartis, is a monthly mjection with a
device similar to an insulin pen. The list price will be $6,900a year, and Amgen
said thatthe drug will be available to patients within a week.

Aimovig blocks a protem fragment, CGRP, that mstigates and perpetuates
migrames. Three other companies—Lilly, Teva and Alder — have similar
medicines in the final stages of study or awaiting FDA approval

“The drugs will have a huge mnpact.” said Dr. Amaal Starlng, a neurologist and
migrame specialist at the Mayo Clinic in Phoenix. “This is really an amazing
time for my patient population and for general neurologists treating patients
with migrame. ™

Millions of people experience severe migraines so often that they aredisabled
and in despar. T hesedrugs do not preventall migraine attacks, but can make
them less severe and can reduce ther frequency by 50 per cent or more.

Until now , drugs used to prevent migramnes were designed to treat other
diseases, like high blood pressure. They arenotvery effective, may work only
temporarily and often are laden with intolerable side effects.

In clinical trials, people taking the new drugs reported no more side effects than
those taking a placebo.

One in seven people worldw ide experience migrames, ameong them 37 million
Americans — as many as 20 per cent of women, and 10 per cent of men.

About 2 percent of the global population copeswith chronic migraines. By
some estimates, migraine is the third most common disease in the world, and it
ranksamong the top ten causes of disability.

Itis not just a headache; a migraine often is accompanied by disabling

symptoms like nausea and vomiting, difficulty speaking and an aversion to light
and noise. T heheadache can be throbbing and last forhours or days.

Sub questions

Question Number : 76 Question Id : 16794310072 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.25

From the reading of the passage, one can infer that it
is:
Options:

% an article on migraine
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» 8 news item about a new drug
% an advertisement of a new drug

% a history of drugs for migraine

Question Number : 77 Question Id : 16794310073 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The name of the drug being talked about is:

Options:
« Amgen

% Alder
» Almovig

% Amaal

Question Number : 78 Question Id : 16794310074 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
How is the new drug to be used by people?

Options:
% It is to be rubbed on head.

% It 1s to be ingested like a tablet.

% It is to be drunk.

» It is to be injected monthly.

Question Number : 79 Question Id : 16794310075 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
How is the new drug an improvement on the existing
drugs?
Options:
% It is to be injected through a pen like device.
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It prevents the migraine attacks and has no side
% effects.

» It reduces pain and has no reported side effects.

» It blocks the migraine perpetuating protein.

Question Number : 80 Question Id : 16794310076 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following statements tells you about the
severity of migraine?
Options:
The headache can be throbbing and last for days
» accompanied by vomiting and nausea.

About 2 per cent of the global population copes with
% chronic migraines.

One in seven people worldwide experience
% Inigraines.

Patients often trv the currently available treatments
» one after another, in varving combinations.

Question Id : 16794310071 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (76 to 80)
Juestion Label - Comprehension
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Read the following passage and answer the questions that follow:

The frst medicme designed to preventmigrames was approved by the Food and
Drug Admmsstration on T hursday, ushering m whatmany experts believe will
be a new erain treatment for people who suffer the most severe form of these
headaches.

Thedrug, Aimovie, made by Amgen and Novartis, is a monthly mjection with a
device similar to an insulin pen. The list price will be $6,900a year, and Amgen
said thatthe drug will be available to patients within a week.

Aimovig blocks a protem fragment, CGRP, that mstigates and perpetuates
migrames. Three other companies—Lilly, Teva and Alder — have similar
medicines in the final stages of study or awaiting FDA approval

“The drugs will have a huge mnpact.” said Dr. Amaal Starlng, a neurologist and
migrame specialist at the Mayo Clinic in Phoenix. “This is really an amazing
time for my patient population and for general neurologists treating patients
with migrame. ™

Millions of people experience severe migraines so often that they aredisabled
and in despar. T hesedrugs do not preventall migraine attacks, but can make
them less severe and can reduce ther frequency by 50 per cent or more.

Until now , drugs used to prevent migramnes were designed to treat other
diseases, like high blood pressure. They arenotvery effective, may work only
temporarily and often are laden with intolerable side effects.

In clinical trials, people taking the new drugs reported no more side effects than
those taking a placebo.

One in seven people worldw ide experience migrames, ameong them 37 million
Americans — as many as 20 per cent of women, and 10 per cent of men.

About 2 percent of the global population copeswith chronic migraines. By
some estimates, migraine is the third most common disease in the world, and it
ranksamong the top ten causes of disability.

Itis not just a headache; a migraine often is accompanied by disabling

symptoms like nausea and vomiting, difficulty speaking and an aversion to light
and noise. T heheadache can be throbbing and last forhours or days.

Sub questions

Question Number : 76 Question Id : 16794310072 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.25

From the reading of the passage, one can infer that it
is:
Options:

% an article on migraine
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» 8 news item about a new drug
% an advertisement of a new drug

% a history of drugs for migraine

Question Number : 77 Question Id : 16794310073 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The name of the drug being talked about is:

Options:
« Amgen

% Alder
» Almovig

% Amaal

Question Number : 78 Question Id : 16794310074 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
How is the new drug to be used by people?

Options:
% It is to be rubbed on head.

% It 1s to be ingested like a tablet.

% It is to be drunk.

» It is to be injected monthly.

Question Number : 79 Question Id : 16794310075 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
How is the new drug an improvement on the existing
drugs?
Options:
% It is to be injected through a pen like device.
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It prevents the migraine attacks and has no side

% effects.

» It reduces pain and has no reported side effects.

% It blocks the migraine perpetuating protein.

Question Number : 80 Question Id : 16794310076 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following statements tells you about the
severity of migraine?
Options:
The headache can be throbbing and last for days

» accompanied by vomiting and nausea.

About 2 percent of the global population copes with

% chronic migraines.

One in seven people worldwide experience

% Inigraines.

Patients often try the currently available treatments

% one after another, in varying combinations.
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Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25
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Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25
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Question Number : 88 Question Id : 16794310085 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.25
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Question Number : 88 Question Id : 16794310085 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 89 Question Id : 16794310086 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.25
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Question Number : 89 Question Id : 16794310086 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25
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Question Number : 90 Question Id : 16794310087 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25
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Question Number : 90 Question Id : 16794310087 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.25
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Question Number : 91 Question Id : 16794310088 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 91 Question Id : 16794310088 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 92 Question Id : 16794310089 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 92 Question Id : 16794310089 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 93 Question Id : 16794310090 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 93 Question Id : 16794310090 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 94 Question Id : 16794310091 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 94 Question Id : 16794310091 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 95 Question Id : 16794310092 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

‘ﬁmaﬁmﬁmg|’m#mng%:

Options:

w H

" JHTHhT


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda24T7

% T

, F AT g

Question Number : 95 Question Id : 16794310092 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 96 Question Id : 16794310093 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 96 Question Id : 16794310093 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 97 Question Id : 16794310094 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 97 Question Id : 16794310094 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 98 Question Id : 16794310095 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 98 Question Id : 16794310095 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
‘AT F qIIIETET g

Options:

% Teram
% 90
% fEeg

v AT

Question Number : 99 Question Id : 16794310096 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 99 Question Id : 16794310096 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 100 Question Id : 16794310097 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 100 Question Id : 16794310097 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 167943629
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 16794310098 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
In what sequence managers usually perform their functions?

Options:
% Organizing, planning, controlling, leading

% organizing, leading. planning, controlling
» blanning, organizing. leading, controlling

% planning. organizing. controlling, leading

Question Number : 101 Question Id : 16794310098 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 102 Question Id : 16794310099 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
‘What is not a characteristic of a corporate social responsibility framework?
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Options:
» Retaining the status quo

% Understanding society
» Harnessing diversity

% DBuilding capacity

Question Number : 102 Question Id : 16794310099 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 103 Question Id : 16794310100 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

ABC Ltd. issued 20.000, 8% Bonds of ¥ 10 each at par. which are redeemable after 5 vears at a premium of 20%. The
amount of loss on redemption of Bonds to be written off every year will be:

Options:
% < 2.000

% T 4,000
v T 8.000

% < 10,000

Question Number : 103 Question 1d : 16794310100 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 104 Question Id ;: 16794310101 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

A loan due for repayment in 22 months® time has been included as a current liability. What will be the effect when this
is corrected?

Options:
% Increase net assets

« Increase net current assets
# no effect on net current assets

% reduce net current assets

Question Number : 104 Question Id ; 16794310101 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 105 Question 1d : 16794310102 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

A company issued T 100,000, 15% Debentures at a discount of 5% redeemable after 10 years
at a premium of 10%. Loss on issue of debentures will be:

Options:
« T 5.000

% T 10,000
% T 12,000

» ¥ 15,000

Question Number : 105 Question 1d : 16794310102 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

% < 5,000
% < 10,000
% < 12,000

» T 15,000

Question Number : 106 Question Id : 16794310103 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The following information regarding a Company is given;

(a) Equity share capital called up ¥ 10,00,000;
(by Calls in arrear < 50,000;

(c) Calls in advance ¥ 50,000;

(d) Proposed dividend 10%.

The amount of proposed dividend payable is:
Options:
% < 90.000
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» 95,000
% ¥1.00.000

% < 1.10.000

Question Number : 106 Question Id : 16794310103 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

« T 90,000
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« T 1,00,000
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Question Number : 107 Question 1d : 16794310104 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

ABC Litd. offers to the public 10,000 shares for subscription. The company receives application for 12,000 shares. If the
shares are allotted on pro-rata basis, then applicants for 12,000 shares are to be allotted as:

Options:
% 2 shares for every 3 shares applied.
% 3 shares for every 4 shares applied.

» 4 shares for every 5 shares applied.

» 3 shares for every 6 shares applied.
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Question Number : 107 Question 1d : 16794310104 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 108 Question Id : 16794310105 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
At what level of an organisation does a corporate manager operate?

Options:
% Functional

% Operational
% Middle level

» Top level

Question Number : 108 Question Id : 16794310105 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 109 Question Id : 16794310106 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of these is not part of the challenges for managers at present?

Options:
» Managing communications

% Managing change
% Managing the learning organization

» Micro-managing the workforce

Question Number : 109 Question Id : 16794310106 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 110 Question Id ;: 16794310107 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which one of the following statements is correct?

Options:
» Internal audit and Management audit are the same
% Internal audit and statutory audit are the same

» Statutory audit of company accounts is compulsory

% Internal audit is compulsory in all cases
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Question Number : 110 Question Id : 16794310107 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 111 Question Id : 16794310108 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
‘Which among the following is not a component of planning?

Options:
» Policy

% Procedures
» Budgets

» Compliances

Question Number : 111 Question Id ;: 16794310108 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 112 Question 1d : 16794310109 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Bonds that are sold outside the country in whose currency they are denominated are called

Options:
+ Eurobonds

» Foreign bonds

% Yankee bonds

% Samurai bonds

Question Number : 112 Question Id : 16794310109 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 113 Question Id : 16794310110 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The view that the exchange rate between the currencies of two countries equals:

Options:
% International fisher effect

» Purchasing power parity
« Interest rate parity

» Forward rates and future spot rates parity

Question Number : 113 Question Id : 16794310110 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct : 1 Wrong: 0.25
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Question Number : 114 Question Id : 16794310111 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Select the option that is not an important source of international finance:

Options:
% Burocurrency loans

% Eurobonds
% Depository receipts

+ Forward contract

Question Number : 114 Question Id : 16794310111 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 115 Question Id : 16794310112 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct : 1 Wrong: 0.25
‘Which feature does not form one of Fayol's 14 principles of management?

Options:
% Esprit de corps

% Initiative
% Order

« Individualism

Question Number : 115 Question Id ;: 16794310112 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 116 Question Id ;: 16794310113 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The rate at which currency can be bought or sold for immediate delivery is:

Options:
» Forward exchange rate

» Spot exchange rate
# Cross rate

% Future exchange Rate

Question Number : 116 Question Id : 16794310113 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 117 Question Id : 16794310114 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Coordination between different departments at the same level in a chain of command is called:

Options:
% Vertical coordination

« Horizontal coordination

% Organizational coordination

% Diagonal coordination

Question Number : 117 Question Id : 16794310114 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 118 Question 1d : 16794310115 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Market segmentation is the identification of portions of the market that are:

Options:
w different from one another

% similar to one another

% Opposite to one another

% complement one another

Question Number : 118 Question 1d : 16794310115 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 119 Question Id : 16794310116 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
PEST analysis is an examination of the:

Options:
w external macro-environment

% external micro-environment
% internal macro-environment

% internal micro-environment

Question Number : 119 Question Id : 16794310116 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 120 Question Id : 16794310117 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

A and B are partners sharing profits and losses in the ratio of 3:2 (A’s Capital is ¥ 30,000 and B's Capital is ¥ 15.000).
They admitted C and agreed to give 1/5th share of profits to him. How much C should bring in towards his capital?

Options:
% < 9.000

» 11,250
% T 12,000

% 14,500

Question Number : 120 Question Id : 16794310117 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:

%« < 9,000
» 3 11,250
% <~ 12,000

%« < 14,500
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Question Number : 121 Question Id : 16794310118 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
‘What is the term for the action in which managers analyse the current situation and then develop plans to accomplish its
mission and achieve its goals?

Options:

% Synergy planning
« Functional planning
» Strategy formulation

% SWOT analysis

Question Number : 121 Question Id : 16794310118 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

30 FIET F T 77 redEdr ¢ O H ey I9A Sty F Feewr Fra £ 3T O 3w e &+
T F AR 39 FaTT F Ao S F T Teen Rl w82

Options:
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Question Number : 122 Question Id : 16794310119 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
‘Which of the following emphasizes on ‘to do what you are best at and leave all other non- value-added activities to

other players™?
Options:
w Core management

% Core production
« Core capacity

» Core competency

Question Number : 122 Question Id : 16794310119 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 123 Question 1d : 16794310120 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Communication serves four major functions within a group. Which one is not a part of the four functions?
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Options:
% Information

% Motivation
% Control

» Negotiation

Question Number : 123 Question Id : 16794310120 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

AR TF HHE & AR IR THE FET @ Feariea war g1 S @1 9w s e fer a8 g2

Options:

H=AT

B "n

% 9IOT
% ToagoT

I

Question Number : 124 Question Id : 16794310121 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The need to realize what we are, and to develop to the fullest potential refers to as:

Options:
% growth needs

% esteem needs
% social needs

+ self-actualization

Question Number : 124 Question 1d : 16794310121 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 125 Question 1d : 16794310122 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A situation in which a group of employees and supervisors meet regularly to discuss the management problems and
solutions is called:

Options:
» quality circle

% management circle
% performance circle

% production circle

Question Number : 125 Question Id : 16794310122 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 126 Question Id : 16794310123 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The process of ensuring that employees' activities and outputs match the organization's goals is called:
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Options:
% Job analysis

 strategic management
» employee development

v pEI’fGI‘IIlB.ﬂCE manag ement

Question Number : 126 Question Id : 16794310123 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 127 Question Id : 16794310124 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Financial decisions of the firm are guided by:

Options:
% Firm’s wealth

w Risk-return trade-off
% Retention ratio

» Financial leverage

Question Number : 127 Question Id : 16794310124 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 128 Question Id : 16794310125 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Advertising 1s a form of:

Options:
w Strategy

» Policy
% Cost leadership

w Differentiation

Question Number : 128 Question Id : 16794310125 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 129 Question 1d : 16794310126 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The change in the shareholder’s return caused by the change in the profit is termed as:

Options:
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» Operating leverage
» Financial leverage
% Risk-return trade-off

% Profit planning

Question Number : 129 Question Id ;: 16794310126 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 130 Question Id : 16794310127 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Determining optimum capital structure is a / an:

Options:
% investment decision

» financing decision
% dividend decision

s« liquidity decision

Question Number : 130 Question Id : 16794310127 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 131 Question Id : 16794310128 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
A process of sub-division of market is termed as:

Options:
» Allocation of marketing

» Market segmentation
% Decision of market

» Positioning

Question Number : 131 Question Id : 16794310128 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 132 Question Id : 16794310129 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The 4 P’s of marketing concept was given by:

Options:
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» McCarthy
# Hanson

% Peter F. Drucker

% JR. Betty

Question Number : 132 Question Id : 16794310129 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 133 Question Id : 16794310130 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
GAAP is the acronym for:

Options:
» Generally Accepted Accounting Principles

« Globally Accepted Accounted Principles
« General Annual Accounting Principles

» Grossly Accepted Accounted Principles

Question Number : 133 Question Id ;: 16794310130 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 134 Question I1d : 16794310131 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Who among the following is an internal user of accounting information?

Options:
% Stockholder

% Supplier
% Government

»» Manager

Question Number : 134 Question Id : 16794310131 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 135 Question 1d : 16794310132 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
When did Consumer Protection Act come into force?
Options:
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# 1989
# 1985
# 1987

« 1986

Question Number : 135 Question Id : 16794310132 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

% 1989
% 1985
% 1987

+ 1986

Question Number : 136 Question 1d : 16794310133 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
‘Which ratio among the following is the best measure of profitability?

Options:
% Debt-equity ratio

% Current ratio

« Return on assets

% Times-interest-earned ratio

Question Number : 136 Question Id : 16794310133 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 137 Question Id : 16794310134 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

How is ‘free cash flow’ calculated?

Options:

» Cash from operating activities — capital expenditures and dividends

% Net income — capital expenditures and dividends
% Cash from operating activities — net income

% Cash from operating activities — capital expenditure

Question Number : 137 Question Id : 16794310134 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 138 Question Id : 16794310135 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

is the selling of equity shares for the purpose of privatisation of ownership.
Options:
+ Disinvestment
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» Contracting
% Denationalisation

% Reinvestment

Question Number : 138 Question Id : 16794310135 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 139 Question Id : 16794310136 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The introduction of Competition Act. 2002 replaced which of the following Acts?

Options:
# FEMA

# FERA
« MRTP

» Companies Act 1956

Question Number : 139 Question Id : 16794310136 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 140 Question Id : 16794310137 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
is the process wherein we examine the environment to recognise the factors affecting the business.

Options:
% Assessment

» Scanning
» Forecasting

% Planning

Question Number : 140 Question Id : 16794310137 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 141 Question Id : 16794310138 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.25

Net Present Value is equal to zero when:

Options:

% IRR < cost of capital

» IRR = cost of capital

»» IRR = cost of capital

# IRR=0

Question Number : 141 Question Id : 16794310138 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.25
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Question Number : 142 Question 1d : 16794310139 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

‘While calculating cost of equity in CAPM model:
Options:

» Deta is always taken as 1

+ Beta is estimated
% There is no need for beta

« Deta is always taken as 0

Question Number : 142 Question Id : 16794310139 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 143 Question Id : 16794310140 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

When debt in the capital structure increases:

Options:

% WACC increases
% WACC remains unchanged

« WACC decreases
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% There is no relationship between the two

Question Number : 143 Question 1d : 16794310140 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
9 IS TEAT H FHOT §&dT ¢ o F47 g 87

Options:
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Question Number : 144 Question Id ;: 16794310141 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
360-degree approach is related to:

Options:
« Organisation climate

% Employees’ moral
» Performance appraisal

% Retrenchment

Question Number : 144 Question 1d : 16794310141 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 145 Question Id : 16794310142 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

The morale of employees is related to:

Options:
« Attitude

« Productivity

% Skills

% Empathy

Question Number : 145 Question Id : 16794310142 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

FHATET FT TG Ow TooT 27

Options:

Question Number : 146 Question Id : 16794310143 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

Who among the following gave the concept of ‘human relations’?

Options:

% Edwin B. Filippo

% Robert Owen
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% Peter F. Drucker

» Elton Mayo

Question Number : 146 Question Id : 16794310143 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 147 Question Id : 16794310144 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The information provided by job analysis 1s used for writing:

Options:
% Policy

» Job description
» Organisation chart

% Procedure

Question Number : 147 Question Id : 16794310144 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 148 Question 1d : 16794310145 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
UNCTAD is the acronym for:

Options:
% United Nations Committee on Tariff and Development

% United Nations Cause for Trade and Development

% United Nations Conference on Trade and Deficit

» United Nations Conference on Trade and Development

Question Number : 148 Question Id : 16794310145 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 149 Question Id : 16794310146 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which among the following is called the *soft loan window” of world bank?

Options:
® IFC

 IDA
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# IMF

# SLA

Question Number : 149 Question Id ;: 16794310146 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 150 Question Id : 16794310147 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
‘Which of the following countries are included in ‘BRICS™?

Options:
w DBrazil, Romania. Indonesia, China. and Sudan

% Bhutan, Russia. Indonesia, Chile. and South Korea
« Britain. Rwanda. India. Czechoslovakia, and Sri Lanka

» Brazil. Russia. India, China, and South Africa

Question Number : 150 Question Id : 16794310147 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
AT # ¥ o9 ¥ U 'y 7 affe o v 872
Options:
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Question Number : 151 Question Id : 16794310148 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
What are SDR’s popularly known as?

Options:
% Silver coin

% Gold coin
» Paper gold

w Currency notes

Question Number : 151 Question Id : 16794310148 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 152 Question Id : 16794310149 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 152 Question 1d : 16794310149 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25
Owner’s equity (capital) can be calculated as:
Options:

« Total assets — total liabilities
% Current assets — current liabilities
% Fixed assets — fixed liabilities

% Fixed assets — current liabilities

Question Number : 153 Question Id : 16794310150 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25
Cost of goods sold can be calculated as:
Options:

% Purchases + direct expenses
% Opening stock + purchases + direct expenses + closing stock
» Opening stock + purchases + direct expenses - closing stock

« purchases + direct expenses + closing stock

Question Number : 153 Question 1d : 16794310150 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 154 Question Id : 16794310151 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

ZBB is a technique of:

Options:

» Budgeting
% Planning
» Branding

» Costing

Question Number : 154 Question Id : 16794310151 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 155 Question 1d : 16794310152 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

‘When the production increases, the fixed cost per unit:
Options:

# Increases

« Decreases
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% Remains unchanged

% No effect

Question Number : 155 Question Id : 16794310152 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 156 Question Id : 16794310153 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
is the value of company and brand names:

Options:
« DBrand loyalty
% Brand power

» Brand equity

% Brand equivalency

Question Number : 156 Question Id : 16794310153 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 157 Question Id : 16794310154 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

‘What is the pricing objective of a company which uses market share pricing?

Options:

+ Sales oriented

% Profit oriented
% Supply oriented

% Demand oriented

Question Number : 157 Question Id : 16794310154 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 158 Question Id : 16794310155 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

seeks to impact and help the individuals/ communities for greater social good.
Options:
% Rural marketing

» Social marketing
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% Online marketing

% Green marketing

Question Number : 158 Question Id : 16794310155 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 159 Question Id : 16794310156 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Job evaluation is done for:
Options:

# Promotion

» Transfer to better job
» Wage determination

» Fixation of responsibility

Question Number : 159 Question Id : 16794310156 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 160 Question Id : 16794310157 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
In which year was Factories Act enacted?

Options:
# 1946
# 1947

« 1948

# 1949

Question Number : 160 Question Id : 16794310157 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

bt wfOfTs Fa av @mg fRar T or?

Options:
% 1946
% 1947
» 1948
% 1949

subject Eelated
Group Number : 9
Group Id: 167943290
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0

Group Marks: 20
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Subject Related

Section Id : 167943349

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 167943632
Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 16794310158 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

A marketer of XYZ Co. is selling his ice-cream in the market at T 20. 20% more than his competitors” price. Still his
sales are increasing. Now his aim is to maintain same pricing. He enjoys which type of leadership?

Options:
% Promotion leadership

» Price leadership
% Cost leadership

« Product leadership

Question Number : 161 Question Id : 16794310158 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 162 Question Id : 16794310159 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Who among the following gave the ‘trusteeship approach’ in industrial relations?

Options:

« Mahatma Gandhi
% Karl Marx

% John Dunlop

s Peter F. Drucker

Question Number : 162 Question 1d : 16794310159 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 163 Question Id : 16794310160 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

Who among the following gave the ‘Factor Endowment Theory’ of international trade?
Options:

% J.S. Mill

% C.P. Kindleberges

« Heckscher-Ohlin

# David Ricardo
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Question Number : 163 Question Id : 16794310160 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 164 Question Id : 16794310161 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.25
In India, foreign exchange and foreign currencies are governed by which Act?
Options:

» DBanking Regulation Act

« FEMA
# SEBI

# RBI

Question Number : 164 Question Id : 16794310161 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 165 Question 1d : 16794310162 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Who among the following gave the ‘Theory of Absolute Advantage’ of international trade?

Options:
% David Ricardo

% Alfred Marshall
% Haberler

« Adam Smith

Question Number : 165 Question 1d : 16794310162 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:

« 3T femrsf
% 3oThS HTIS
x FEO

v 57 By

Question Number : 166 Question Id : 16794310163 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Who among the following gave the ‘Theory of Comparative Advantage’ of international trade?

Options:
% Adam Smith
+ David Ricardo

% Raymond Vernon

# Michael E. Porter

Question Number : 166 Question Id : 16794310163 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 167 Question Id : 16794310164 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

‘Which of the following cannot be classified as auxiliary to trade?

Options:

»» Mining
w lransport
« Warehousing

% Insurance

Question Number : 167 Question Id : 16794310164 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 168 Question Id : 16794310165 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Business activities may be classified in to two broad categories:


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda24T7

Options:
% Trade and commerce

» Industry and commerce
% Buying and selling of goods

% Trade and auxiliaries to trade

Question Number : 168 Question Id : 16794310165 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
R afafafat & e o soow Aot & w=figa B o gear 2
Options:
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Question Number : 169 Question Id : 16794310166 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
On joining IMF, each member is assigned a quota in special drawing rights (SDRs) corresponding to its:

Options:
» Relative position in the world economy

« Relative position in the world politics
% Relative position in the world’s nuclear forum

» Relative position in the Human Development Index

Question Number : 169 Question Id : 16794310166 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 170 Question Id : 16794310167 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Net Income and Net Operating Income approach to capital structure were given by:

Options:
% Modigliani and miller

» Harry Markowitz
» William F sharpe

« David Durand

Question Number : 170 Question Id : 16794310167 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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, 5=E 535 (David Durand)

Question Number : 171 Question 1d : 16794310168 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
In finance the term working capital means:
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Options:
% Depreciation

% Total assets
% Net assets

« Current assets minus current liabilities

Question Number : 171 Question Id : 16794310168 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 172 Question Id : 16794310169 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Securities with maturity of less than one year are traded in:

Options:
» Money market

» Capital market

% Futures market

% Forward market

Question Number : 172 Question 1d : 16794310169 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda24T7

L T 991
S CUIE

. FOIH TR

g dIdgl &l

Question Number : 173 Question Id : 16794310170 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Mutual funds in India are regulated by:

Options:
# IRDA

« SEBI
# SIDBI

# RBI

Question Number : 173 Question Id : 16794310170 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 174 Question 1d : 16794310171 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
‘Which one of the following aspects is not covered by job analysis?

Options:
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% Job specification
% Job description
» Performance appraisal

« Working conditions

Question Number : 174 Question Id : 16794310171 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 175 Question Id : 16794310172 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
‘Which of the following is an off-the-job training methods?

Options:
« Lectures

% Internship training

% Job rotation

% coaching

Question Number : 175 Question Id : 16794310172 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda24T7

v T
o STATIT gfdretor
% FIA-HTTdeT

x ST

Question Number : 176 Question Id : 16794310173 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Performance appraisal is also called as:

Options:
% Quality and quantity of output

» Job knowledge
» Employee assessment

» Employee Feedback

Question Number : 176 Question Id : 16794310173 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 177 Question 1d : 16794310174 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Adding new features to a product is supported by which of the following approaches:

Options:
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% Selling approach
% Production approach
% Marketing approach

» Product approach

Question Number : 177 Question Id : 16794310174 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 178 Question Id : 16794310175 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
When a company distributes its product through a channel structure that includes one or more resellers is known as:

Options:
» Indirect marketing

% Direct marketing
% Multi-level marketing

% Marketing communication

Question Number : 178 Question Id : 16794310175 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 179 Question 1d : 16794310176 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Hawthorne studies is related to the development of which stage of organizational behavior?

Options:
% Industrial revolution

% Scientific management
% Organizational behavior

+ Human relations

Question Number : 179 Question Id : 16794310176 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 180 Question Id : 16794310177 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Herzberg’s two factor theory is based on which two factors?

Options:
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» Hygiene and behavioral
% Safety and self —esteem

% Basic and self-actualization needs

% Safety and health

GET IT ON
Google Play

Question Number : 180 Question Id : 16794310177 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25
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Options:
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Sub-Section Number: 1
Sub-Section 1d: 167943633
Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 16794310178 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

Which of the following does not include the right of the consumer as per consumer protection act 19867
Options:
» Right to choose

» Right to be presented
» Right to safety

% Right to be heard

Question Number : 181 Question Id : 16794310178 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 182 Question Id : 16794310179 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

‘Which of the following is not the characteristic of accounting information?
Options:

» Reliability

% Relevance
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% Understandability

» proficiency

Question Number : 182 Question Id : 16794310179 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 183 Question Id : 16794310180 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A concept that business enterprise will not be liquidated or sold out in the near future is known as:

Options:
» Going concern

» DBusiness entity
% Matching concept

% None of these

Question Number : 183 Question Id : 16794310180 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 184 Question Id : 16794310181 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
‘Which of the following cost is also known as overhead cost or on cost?

Options:
% Cost of direct labour

# Cost of indirect labour

« Direct expenses

» Indirect expenses

Question Number : 184 Question Id : 16794310181 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 185 Question 1d : 16794310182 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A bank reconciliation statement is prepared to know the causes for difference between:

Options:
% The balances as per cash column of the cash book and the pass book

» Balance as per bank column of the cash book and the pass book
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% The balance as per bank column of the cash book and cash column of the cash book

Both The balances as per cash column of the cash book and the pass book & Balance as per bank column of the cash
» book and the pass book

Question Number : 185 Question Id : 16794310182 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 186 Question Id : 16794310183 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The balance sheet of a not for profit organization does not contain:

Options:
% Assets

% DBuilding
% Debtors

» Owner’s equity

Question Number : 186 Question Id ;: 16794310183 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

% IEITcTar
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Question Number : 187 Question 1d : 16794310184 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A partnership came in to existence only by some agreement between the partners such an agreement can be:

Options:
% EXI}I‘ESS agregment Gﬂi}-’

% Implied agreement only
» Expressed or implied agreement

% Registered agreement

Question Number : 187 Question Id : 16794310184 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:

. I HTHeTeT (TFEYH) THSS

wmﬁﬁa’ﬁ'ﬂﬂ?ﬁﬁ
v Foewsa o1 Afgg gasia

Question Number : 188 Question Id : 16794310185 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
A and B are partners sharing profits and losses in the ratio of 2 : 5. They admit C for !4 share in future profits. New
ratio between A, B and ¢ will be:

Options:
w6:15:7
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Question Number : 188 Question Id : 16794310185 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 189 Question Id : 16794310186 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Statement of financial position produced from incomplete accounting records is known as:

Options:
% Balance sheet

% Cash flow statement
" Statement of affairs

% Statement of financial operations

Question Number : 189 Question Id : 16794310186 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 190 Question Id : 16794310187 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following is not shown in the company’s balance sheet?

Options:
% Authorized capital

» Issued and subscribed capital
% Called up and paid up capital

» Reserve capital

Question Number : 190 Question Id : 16794310187 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 191 Question Id : 16794310188 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The share premium account should be shown under:
Options:

» Share capital
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% Current assets
% Current liabilities

» Reserve and surplus

Question Number : 191 Question Id : 16794310188 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 192 Question Id : 16794310189 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
To test the long term solvency of a concern which one of the following ratios is used?

Options:
% Acid test ratio

» Debt equity ratio

% Time interest earned ratio

% Turnover Ratio

Question Number : 192 Question Id : 16794310189 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 193 Question Id ;: 16794310190 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Formula for interest coverage ratio is given by:
Options:

% Net profit/Interest on Debt

% Debt capital/ interest on debt
» Earnings before interest and tax /interest on debt

% Profit before tax/interest on debt

Question Number : 193 Question 1d : 16794310190 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 194 Question Id : 16794310191 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
When shares are forfeited, share capital account is debited by:

Options:


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda24T7

« Paid up capital
» Called up capital

% Call in arrears

% Nominal value of such shares

Question Number : 194 Question 1d : 16794310191 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 195 Question Id : 16794310192 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
As per AS-3, cash flows can be classified in to:

Options:
% Operating and investing activities
» Investing and financing activities

% Operating and financing activities

» Operating. investing and financing activities

Question Number : 195 Question Id : 16794310192 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 196 Question Id : 16794310193 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Profit volume (p/v) ratio shows relationship between:

Options:
% Contribution and profit

% Profit and sales
« Contribution and sales

% Fixed cost and contribution

Question Number : 196 Question Id : 16794310193 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 197 Question Id : 16794310194 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A method of accounting that attempts to take account of the fact that monetary unit does not have a constant value
because of the effect of inflation is called:

Options:
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% Management accounting
» Inflation accounting
» Financial accounting

» Cost accounting

Question Number : 197 Question Id : 16794310194 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 198 Question Id : 16794310195 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The value of human resource is the function of average salary of the employees and their average employment tenure in
the organization. This is the essence of:

Options:
% Human asset multiplier model

% Five dimensional model
» Aggregate payment model

% Un purchased goodwill model

Question Number : 198 Question Id : 16794310195 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 199 Question 1d : 16794310196 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Two key aspects of any investment are:

Options:
« Time & risk
% Time & money

% Risk & uncertainty

% Profit & loss

Question Number : 199 Question Id : 16794310196 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 200 Question Id : 16794310197 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong: 0.25

The number of stocks in BSE Sensex is:

Options:
« 30

% 50

# 100

GET IT ON
Google Play

Question Number : 200 Question Id : 16794310197 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:

« 30

% 50

% 80

% 100
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Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 167943634
Question Shuffling Allowed : Yes

Question Number : 201 Question Id : 16794310198 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Security X has an expected rate of return of 5% and standard deviation of 4%. Security Y has an expected return of §%
and standard deviation of 10%.If there is 75% investment in X and 25% investment in Y, then the return on portfolio

will be:
Options:
 5.75%

# 7.5%
% 13%

# 14%

Question Number : 201 Question Id : 16794310198 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:

« 5.75%
% 7.5%
% 13%

% 14%

Question Number : 202 Question Id : 16794310199 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

The cost of equity is equal to the:
Options:

% Expected market return
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» Rate of return required by equity shareholders
% Cost of retained earnings plus dividend

% Risk the company incurs when financing

Question Number : 202 Question 1d : 16794310199 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 203 Question Id : 16794310200 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
refers to a firm holding some cash to meet its routine expenses that are incurred in the ordinary course of
business.

Options:
% Speculative motive

+ Transaction motive

% Precautionary motive

» Compensating motive

Question Number : 203 Question 1d : 16794310200 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 204 Question Id : 16794310201 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

A company has a fixed cost of T 40000. The selling price per unit is T 4 and the variable cost per unit is T 3. The break-
even quantity is <

Options:
% 10,000

% 12.000
40,000

% 45.000

Question Number : 204 Question Id : 16794310201 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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AT I 3E AHIAH AN Bl

Options:

« T 10,000
« T 12,000
» T 40,000

% < 45,000

Question Number : 205 Question Id : 16794310202 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A consists of a group of customers who share a similar set of needs and wants.

Options:
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» market target
% market group
% market slice

» market segment

Question Number : 205 Question Id ;: 16794310202 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 206 Question Id : 16794310203 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
In marketing, the seller engages in the mass production, mass distribution, and mass promotion of one
product for all buyers.

Options:
w Group

« Mass
% General

% Segmented

Question Number : 206 Question 1d : 16794310203 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 207 Question Id : 16794310204 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Those who buy goods and services for their own personal use or the use of others in their immediate household are:

Options:
% Utilitarian consumers

» Organizational customers

« Ultimate consumers

% Intermediaries

Question Number : 207 Question Id : 16794310204 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 208 Question Id : 16794310205 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
SEBI has made it mandatory for the companies to disclose their

Options:
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% The annual report
% Monthly report and annual report
» Quarterly report and annual report

% Monthly review and annual report

Question Number : 208 Question Id : 16794310205 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 209 Question Id : 16794310206 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which one of the following would NOT tighten a firm's credit policy?

Options:
» Implementing a more stringent credit standard

% Shortening the net due period
» Lengthening the discount period

% Requiring a cash down payment on any purchase

Question Number : 209 Question Id : 16794310206 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 210 Question Id : 16794310207 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

‘Which of the following is not a money market security?

Options:

« ITreasury bills

+ Debentures

w Certificate of deposit

» Commercial paper

Question Number : 210 Question Id : 16794310207 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25
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Question Number : 211 Question Id : 16794310208 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

Which of these is not a financial asset?

Options:
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% Bonds
% Shares
«" Patents

» Lease obligations

Question Number : 211 Question Id : 16794310208 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

S8 ¥ @i O facar aREafea 78 272
Options:

% S

% AT
v 9T

« TET (3IST) arfires

Question Number : 212 Question Id : 16794310209 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Financial decisions of the firm are guided by:

Options:
% Firm’s wealth

« Risk-return trade-off
% Retention ratio

» Financial leverage

Question Number : 212 Question Id : 16794310209 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 213 Question Id : 16794310210 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The change in profit due to the change in sales is referred to as:

Options:
» Financial leverage

» Operating leverage
» Profit planning

% Dividend-payout ratio

Question Number : 213 Question Id : 16794310210 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 214 Question 1d : 16794310211 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

The expected rate of return that an investor could earn by investing his money in financial assets of equivalent risk is
called:

Options:

% Retention ratio
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% Dividend —payout ratio
% Optimum capital structure

» Opportunity cost of capital

Question Number : 214 Question 1d : 16794310211 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 215 Question Id : 16794310212 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A ratio which reflects the price investors are willing to pay per rupee of Earning Per Share is known as:

Options:
% DE ratio

+ PE ratio
# BE ratio

% Solvency ratio

Question Number : 215 Question Id : 16794310212 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 216 Question 1d : 16794310213 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

is the science of using psychology and demographics to better understand consumers.
Options:
» Psychographics

% Segmentation
% Clustering

% Demographics

Question Number : 216 Question Id : 16794310213 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 217 Question 1d : 16794310214 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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The three major sources of risk are; business risk, interest rate risk and

Options:
» Capital risk

% Personal risk
« Market risk

# Social risk

Question Number : 217 Question Id : 16794310214 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 218 Question Id : 16794310215 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The market for raising short term funds is called

Options:
» Capital market

» Money market

% Short term market

% Retail market

Question Number : 218 Question Id : 16794310215 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 219 Question Id : 16794310216 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

An instrument whose value depends on the value of some underlying assets is called
Options:

% Debenture

« Derivative
% Bond

# Mutual fund

Question Number : 219 Question Id : 16794310216 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 220 Question Id : 16794310217 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

A contract which gives its owner the right to buy or sell an underlying asset on or before a given date at a predetermined
price is called:

Options:
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# Futures
% Swap

» Option

Question Number : 220 Question Id : 16794310217 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 167943635
Question Shuffling Allowed : Yes

Question Number : 221 Question 1d : 16794310218 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
‘Which of the following is an example of long term liability?

Options:
% Bank Overdraft

% Creditors
» Mortgage

% Accounts payable

Question Number : 221 Question Id : 16794310218 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 222 Question Id ;: 16794310219 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

An organization has furniture for ¥ 90,000, Cash ¥ 100, 000, Debtors T 10, 000, Other Assets T 1,000 and Owner’s
equity is T 90, 000. What is the liabilitiy on the organization?

Options:

% < 201,000

» T 111,000
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% < 290, 000

% T 291, 000

Question Number : 222 Question Id : 16794310219 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
frdT e & I ¥ 90,000 T Fl=R, F&e T 100,000, &7 T 10,000, 37T T9feaar T 1,000 3
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Options:

%« < 201,000

» < 111,000
% ~ 290,000

% < 291,000

Question Number : 223 Question Id : 16794310220 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A debit will cause the balance in a liability account to:

Options:
« Decrease

% Increase
% WWrite off

% Accumulate

Question Number : 223 Question Id : 16794310220 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
U 20dT TTd & 99 Tfer 7 v 2fee frwer FRoT a9ar 82

Options:
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Question Number : 224 Question Id : 16794310221 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

A firm had a capital balance of T 1,00.000 at the beginning of a year. At the end of the year, the firm had total assets of ¥ 1.50,000
and total liabilities of ¥ 70.000. If the total withdrawals during the period were ¥ 30,000, what was the amount

of Net profit/Net loss for the vear?

Options:
< 10,000 profit

% < 20.000 loss
% % 50,000 loss

% < 10,000 loss

Question Number : 224 Question Id : 16794310221 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Question Number : 225 Question Id : 16794310222 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A company uses straight line method of depreciation for an equipment that cost ¥ 28,000, has salvage value of T 3,000,
and has a five year useful life. What will be the book value of asset at the end of third year?

Options:
% < 10,000
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» T13,000
% T15.000

% < 18.000
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« T 10,000
» % 13,000
« T 15,000

% < 18,000
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A sale of T 25.000 to A was entered as a sale to B.
This is an example of:

Options:
% Error of omission

w Error of commission

« Compensating error

« Error of principle

Question Number : 226 Question Id : 16794310223 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 227 Question Id : 16794310224 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

An error wherein an invoice from a supplier of electrical equipment has been debited to the electricity account is known
as:
Options:

% An error of commission

% An error of original entry
« A compensating error

» An error of principle

Question Number : 227 Question 1d : 16794310224 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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If opening stock of 50 units of finished goods are valued at 10 each and the average unit cost of 500 units produced
during the period is ¥ 8.90, which method of stock valuation gives a closing stock value of T 9 per unit?

Options:
% FIFO

» Weighted average
% Marginal cost

% Absorption cost based on normal activity
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Question Number : 229 Question 1d : 16794310226 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The rate of gross profit is 20% on sales and the cost of goods sold is T 1.00.000. The amount of gross profit will be:

Options:
% < 16,667
% < 20,000

v T 25,000

% < 30.000
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Options:

« T 16,667
« T 20,000
, T25,000

% < 30,000
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‘Which one of the following errors is an error of Principle?

Options:
» Debiting repairs account instead of furniture account.

% Sale of T 200 entered in the book as T 2000

» Cash sale of ¥ 300 wrongly entered in sales book

» Purchase transactions entered in purchase return book.

Question Number : 230 Question Id : 16794310227 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 231 Question 1d : 16794310228 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following rules stands true while preparation of Schedule of changes in working capital?
A. An increase in current assets increases working capital.
B. An increase in current assets decreases working capital.
C. An increase in current liabilities decreases working capital.
D. An increase in current liabilities increases working capital.

Choose the correct option.

Options:
« Aand C

# AandD
# Band D

% A.B.and D
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A contra entry in the cashbook would include:

Options:
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% Transferring the discounts to the accounts in the general ledger
% Totaling up the bank and cash columns at the end of each month
« Transferring cash into the petty cash book

» Withdrawing cash from the bank account.

Question Number : 232 Question Id : 16794310229 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 233 Question Id : 16794310230 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The price on goods and services sold by one member of a corporate family to another, such as from a parent to its

subsidiary in a foreign country is, known as:
Options:

% Import price

% EXport price

» Transfer price

« Arm’s Length Price

Question Number : 233 Question Id : 16794310230 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 234 Question Id : 16794310231 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following factors is not an external influencing factor in wages and salary administration?

Options:
% Cost of Living

« Labor legislations
% Labor market conditions

» Ability to pay
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Correct : 1 Wrong: 0.25
‘Which of the following is the fixed component in compensation packages?

Options:
« Profit-sharing

» Base salary
% Gain-sharing

% Equity stock options
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Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following statements concerning the three- column cash book is true?

Options:
« It is allowable for the cash column to have a credit balance at the end of the period

% The folio column represents the third column of cashbook

+ The bank column can have either a debit or a credit balance

% The discounts column totals should be the same to enable balancing of.
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Ajay is a programmer for educational solutions company. working for past 5 vears and has performed well. but since
past few months his behavior include following issues;

a. He reacted badly in the meeting when a new responsibility was given to him

b. He often comes late to office

c. He is forwarding his resume to recruiters

d. He often complains about the working conditions
‘What does this indicate?

Options:
» He is highly motivated

% He wants promotion
» He is not satisfied with the job

% He is under stress
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Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Ahmad is conducting an interview for hiring sales executive for his organization. He needs to know about the
personality of the person. Which of the following methods would he use?

Options:
» Physical examination

% Reference check

» Psychological test

% Depth Interview
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“Organizations are made up of people and the success of management lies in its dealings with these people.” This is the
fundamental of the

Options:
% Marxist approach

« Gandhian approach
» Human relations approach

» Giri approach
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Correct : 1 Wrong: 0.25
‘Which of the following refers to the process of getting detailed information about jobs?

Options:
« Job design
» Job analysis

« Work study

» Workflow analysis
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is the process focuses on the planning part for the manpower requirements and

implementation of manpower plans.

Options:

is the process of
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% Recruitment and selection. human resource planning
» Human resource planning. recruitment and selection
% Human resource planning. orientation

% Orientation. recruitment and selection
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Correct: 1 Wrong: 0.25
A strike becomes illegal if it is resorted to
1. during pendency of conciliation proceedings
ii. during pendency of proceedings before the labour court
ii1. during pendency of proceedings before the arbitrator
iv. without giving 6 weeks' notice of the strike
v. before expiry of the strike notice period
vi. during pendency of proceedings for mediation

Options:
o 1, i, ifi, v
% 1,1, iid, iv

w i, i, iii, vi

g 1,11, 1V, Vv
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Under which of the following conditions employer is liable to pay compensation to a workman?
1. If there is personal injury to workman
ii. If injury is caused by an accident at work place
1. If the accident is caused by disobedience of the employee in the use of safety measures
iv. If the injury results in the death of the worker
v. If total or partial disablement lasted for 2 days
vi. If accident occurred due to the influence of drugs on workman

Options:
o 1., iV
% 1,11, iii

w 1i, iii, iv

% Lv.vi
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Which of the following are the duties of a Labour Welfare Officer?
i. Promoting welfare schemes and training programs for workers
ii. Solving family and personal problems of workers
iii.  Conducting arbitration proceedings
iv.  Conducting mediation
V. Conducting adjudication proceedings
vi.  Solving employee grievances

Options:
g 1,11, 1V, Vv
s ii, iii, iv, v

o 1, 1, 1V, Vi

o 1ii, 1v, v, vi
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Training needs analysis which attempts to identify the context of the training is called:

Options:
» environmental analysis

» individual analysis
« departmental analysis

% Operational analysis
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Question Number : 246 Question Id : 16794310243 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The process of performance appraisal is concerned with:
Options:

% potential measurement

» identification and assessment of employees' performance in organizations

» assessment of development requirement in organizations

» employee rewarding

Question Number : 246 Question Id : 16794310243 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Sele Hedishel $T ThhaT fFEd Hafad 22

Options:
# Al HlIHaA

, TEAT H FAANRE F v H Gg=T AR Hediwa

% TISAT H Ferrg &7 392 TeRar &1 AT

, FHANT P [TEFT LA

Question Number : 247 Question Id : 16794310244 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

A need to discover what we are, and to develop to the fullest potential refers to:
Options:

% growth needs

% social needs
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% esteem needs

« self-actualization

Question Number : 247 Question 1d : 16794310244 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 248 Question Id ;: 16794310245 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
What is the way of resolution when there is a crisis of leadership during organizational development?

Options:
» Growth through direction

» Growth through delegation
% Growth through collaboration

» Growth through coordination

Question Number : 248 Question 1d : 16794310245 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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TeTeATcHS [9FTd F S Aded FT THhe &l T 3 goT el T I 77 272

Options:

, @dee & sremw & gie

. Sfafafsse & arom & 3w


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda24T7

. TEIRT & ATH ¥ i

o TH-ET & AOH § g

Question Number : 249 Question Id ;: 16794310246 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The process of getting all the organizational members involved to form a sense of common purpose is:

Options:
% control

% amalgamation
% direction

» integration

Question Number : 249 Question Id : 16794310246 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 250 Question Id : 16794310247 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following is not a part of the stages of a conflict episode?

Options:
% Latent conflict

» Interpersonal conflict
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% Felt conflict

% Perceived conflict

Question Number : 250 Question 1d : 16794310247 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Question Number : 251 Question Id : 16794310248 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

‘Which of the following needs of employees are addressed by human resource planning?
Options:

% Social

# Economic
» Physiological

» Developmental
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Question Number : 252 Question 1d : 16794310249 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Management information systems (MIS)

Options:
% Process business transactions (e.g., time cards, payments. orders, etc.)

» Capture and reproduce the knowledge of an expert problem solver

» Create and share documents that support day-today activities

Process business transactions (e.g., time cards, payments, orders, etc.) & Capture and reproduce the knowledge of an
w expert problem solver

Question Number : 252 Question Id : 16794310249 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
HasTHe saAwHee fawes (vH.3ms.uy.) FLT 2

Options:

, THAT SR e (3STEI0T, AT FIE, T, Hewl, 371

., T ews §AET g A ATl & A 1 ol AR 3H G gae

v ea-gfafea & AT =1 gFda == I TR 94T 3T FWIET FAT

gTeRaT SOIT S (3ETeT0T, TAT FEE, AT, IS, HThE) N ENT T s w9 &
. T BT o AT 3 I T

Question Number : 253 Question 1d : 16794310250 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Which of the following systems deals with planning for, development, management, and use of information technology
tools for management?

Options:

» Strategic Support Systems
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% Administrative Systems
» Management Information Systems

» Operational Systems
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Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

What term is used to describe information coming into a computer that is in bad form. or is incorrect, and will
improperly affect the decision-making process?

Options:

% Tainted data

« GIGO

% Manipulated data

% Scrubbed data
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Correct : 1 Wrong: 0.25
is specially tailored for the use of executive of an organization to support his decision-making.

Options:
# DBS

« ESS
# CBS

# MSS
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Research and development costs for new products are:

Options:
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+« Sunk Cost
% Conversion cost
% Joint cost

% Relevant cost
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Question Number : 257 Question Id : 16794310254 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
A set of concept and tools applied for getting all the emplovees focused on continuous improvement in the eyes of the
customers is popularly known as:

Options:
% Quality control

% Cost control
% Customer Orientation

» Total Quality Management
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Question Number : 258 Question Id : 16794310255 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Authorised capital of a company is T 5 lacs. 40% of it is paid up. Loss incurred during the year is ¥ 50,000.
Accumulated loss carried from last year is < 2 lacs. The company has a Tangible Net Worth of:

Options:

% Nil

® ¢ 2.50 lac

(9T 50,000

% T 1.00,000
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What is the significance of a cumulative preference share?
Options:
» Dividends will always be paid on such shares

» Each vear, the dividend per share increases

» The dividends will always be greater than those paid on the ordinary shares

» 1f the company can't afford to pay a dividend one year. the missed dividend can be paid out of future years' profits

Question Number : 259 Question Id : 16794310256 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Question Number : 260 Question Id : 16794310257 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

A firm shows required production of 120 units of product for the month, direct labor per unit is 3 hours at T 12 per hour.
Budgeted labor costs for the month should be:

Options:
% % 1,360

% T 1,440
v 4,320

% T5.346

Question Number : 260 Question Id : 16794310257 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda24T7

Correct: 1 Wrong: 0.25
TF FH TH FEH & O 39 120 FHEAT F SoNEA T HERTHAT S €, IS I Tt S|
e, 9fa 9 T 12 §1 #84 & AU g9 1\ 7T 47 g@er aifge?

Options:

% < 1,360

% < 1,440

» 74,320

% < 5,346

Subiject Related

Group Number : 14

Group ld: 167943295

Group Maximum Duration : 0

Group Minimum Duration : 0

Revisit allowed for view? : No

Revisit allowed for edit? : No

Break time: 0

Group Marks: 20

subject Related

Section Id : 167943354
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section 1d: 167943637
Question Shuffling Allowed : Yes

Question Number : 261 Question 1d : 16794310258 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
‘Which of the following best describe a flexible budget?

Options:
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% A budget of variable production costs only
% A budget which is prepared using a computer spreadsheet model
» A budget which shows the costs and revenues at different levels of activity

% A budget which is updated with actual costs and revenues as they occur during the budget period
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Question Number : 262 Question Id : 16794310259 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
80% of sales of T 10,00,000 of a firm are on credit. It has a Receivable Turnover of 8. What is the Average collection
period (360 days a year) and Average Debtors of the firm?

Options:
» 45 days and T 1.00,000

% 360 days and T 1.00.000,
« 45 days and ¥ 8.00.000

% 360 days and ¥ 1.25.000
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Options:

» 45 f&= 3k ¥1,00,000
« 360 f&= 3k T 1,00,000
« 45 f&= 3T £.8,00,000

« 360 f&=7 39T T 1,25,000
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Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Stock price of XYZ Ltd. is trading at T 60. The firm is expected to declare dividend of T 6 per share and is expected to
grow at rate of 12 per cent per year. What is the cost of equity under dividend growth model?

Options:
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% 25%
% 30%

% 35%
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Question Number : 264 Question 1d : 16794310261 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

A form of security analysis that attempts to forecast the movement of prices of securities based on its historical prices is
called !

Options:
% Fundamental analysis

» Technical analysis
% Company analysis

» Historical analysis
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Question Number : 265 Question Id : 16794310262 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

‘Which one of the following is the Traditional approach for costing?

Options:

» Contribution approach
» Absorption costing approach
% Decision making approach

% Marginal costing approach
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Question Number : 266 Question Id : 16794310263 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A country's is the difference between the value of a country's imports and exports over time.

Options:
% gross national product

% purchasing power parity
« current account

» foreign exchange reserve
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Question Number : 267 Question 1d : 16794310264 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A is the joining of two firms in order to form a third company in which the equity is shared.

Options:
% mmajority interest

» joint venture
% product extension merger

% mminority interest
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Question Number : 268 Question Id : 16794310265 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The North American Free Trade Agreement (NAFTA) is between which of the following countries?

Options:
« United States. Brazil, and Canada
« United States. Mexico, and Brazil

% United States. Argentina, and Brazil

» United States, Canada, and Mexico
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Question Number : 269 Question Id ;: 16794310266 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which stage of marketing research is considered to be the most difficult for an entrepreneur due to lack of knowledge or
experience in marketing?

Options:
% Analyzing and interpreting the results

% Gathering data from primary sources
« Gathering data from secondary sources

» Defining the purpose or objectives
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Question Number : 270 Question Id : 16794310267 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

When products cannot be easily differentiated:

Options:

there is little room for price variations from the
» competition.

% askimming price strategy is appropriate
% a higher price can be charged

% the lowest possible price must be charged

Question Number : 270 Question Id : 16794310267 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 271 Question Id : 16794310268 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

‘Which type of ownership is the least expensive to start?
Options:

% Limited partner

% Corporation

« General partnership
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» Sole proprietorship

Question Number : 271 Question 1d : 16794310268 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 272 Question Id : 16794310269 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
An ESOP:

Options:
% 15 a device to transfer the business to a small group of key loyal employees

% removes the need for a continuous performance appraisal
» eliminates the need to perform a complete valuation of the venture

» motivates employees because they realize they are working for themselves

Question Number : 272 Question Id ;: 16794310269 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 273 Question Id ;: 16794310270 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

A is a separate entity that involves a partnership between two or more active participants.
Options:
% merger

» joint venture
« leveraged buyout

% franchise

Question Number : 273 Question Id : 16794310270 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 274 Question Id : 16794310271 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

A is a strong internal stimulus impelling action.

Options:

« drive

% reinforcement

# cuc

% discrimination
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Question Number : 275 Question Id : 16794310272 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

A personality attribute that measures degree to which people believe that they control their own fate is called:
Options:
% Conventional

% Pre-conventional
« Ego strength

« Internal Locus of control

Question Number : 275 Question Id : 16794310272 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Question Number : 276 Question Id : 16794310273 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Which of the following is the most common type of departmentalization?

Options:

» Geography Departmentalization
% Customer/Market Departmentalization
» Functional departmentalization

% Product departmentalization

Question Number : 276 Question Id : 16794310273 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 277 Question Id ;: 16794310274 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25
Span of management may be larger in the case of:
Options:

% Non routine task
% Untrained subordinate
% Unpopular superior

» Competent subordinates
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Question Number : 278 Question Id : 16794310275 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Delegation of authority results in:

Options:
% avoiding responsibility

» centralization of power at top level

% costliness of decisions

» enabling managers to distribute their works
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Correct: 1 Wrong: 0.25

A manager can supervise a limited number of executives refers to which of the following concepts?
Options:
% Departmentalization

« Work specialization
% Formalization
» Span of management

Question Number : 279 Question Id : 16794310276 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

In which of the following organizational structures. a subordinate has to work under more than one boss:
Options:
% Line organization

» Line & staff organization
« Project organization

» Matrix organization

Question Number : 280 Question Id : 16794310277 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Subject Related

Group Number : 15

Group Id : 167943296
Group Maximum Duration : 0
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Revisit allowed for view? : No

Revisit allowed for edit? : No

Break time: 0

Group Marks: 20

Subject Related

Section Id : 167943355

Section Number : 1

Section type: Online
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Number of Questions; 20
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Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 167943638
Question Shuffling Allowed : Yes

Question Number : 281 Question Id : 16794310278 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Choose the right option:

Distraction can be attributed to:
Options:
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% Lack of interest
s Lack of motivation

» Disturbance in the learning environment

« Physical disability

Question Number : 281 Question 1d : 16794310278 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 282 Question Id : 16794310279 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Choose the most appropriate option:

The primary aim of incorporating work experience at school level is:

Options:

» Bridging the gap between pure subject knowledge and industry-related skills
» Preparing students for employment

% Creating revenue for schools

% Allowing children to socialise

Question Number : 282 Question Id : 16794310279 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong: 0.25
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Question Number : 283 Question Id : 16794310280 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Study of social sciences aims at developing attitudes such as:

Options:
» Respecting the accomplishments of humans throughout the history

% Developing liking towards history
« Love for people

% Respecting the law
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Question Number : 284 Question Id : 16794310281 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Choose from the options given below:

Change is two - dimensional and the two dimensions are apart from each other they are
Options:
% Time and direction

« Rate and direction
% Direction and material

% Time and rate

Question Number : 284 Question Id : 16794310281 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Gﬁrﬁmcrgﬁ

TREe ST AR T ymE T g A e £ S gl
Options:

wm}ﬂ'{ﬁ'ﬂﬂ'
JETEPW%QTI'
w feor i grAeh

s THET 3T a7

Question Number : 285 Question Id : 16794310282 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Phonetic method as a method for beginners in reading emphasizes on:
Options:

% Spellings of words
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% Pictures of words

» Sounds and pronunciation of words

% Symbol reading

Question Number : 285 Question Id : 16794310282 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Question Number : 286 Question Id : 16794310283 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Curriculum refers to:

Options:

» Alms, content, methods and evaluation

% Subjects, places, activities and assessment
% System, board, syllabus and examinations

% Subjects, boards, syllabus and examinations
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Correct : 1 Wrong: 0.25
qIST=AT T HY
Options:


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda24T7

Question Number : 287 Question Id : 16794310284 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Choose the right option:

Honour killing is prevalent even as of today. It means:

Options:
» Killing a member of the family as he/she has violated the principles of the family

% Killing another person with vengeance
% Killing a member in the family due to property issues

% Killing someone due to disrespect
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Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Correct : 1 Wrong: 0.25
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Choose from the options given below:

Mathematics, as a subject at the school level. develops life skills such as:
Options:
% Interest in mathematics

» Problem solving
% INegotiation

% Cooperative learning
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Question Number : 289 Question Id : 16794310286 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Choose from the options given below:

One of the aims of English language teaching is “language development™ in the child. that is:
Options:
» Thinking in the English language

% Reading the English language

% Speaking in the English language
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% Comprehending the English language

Question Number : 289 Question I1d : 16794310286 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 290 Question Id : 16794310287 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Choose the correct option from the following to complete the sentence:

Discourse analysis can be described as
Options:
% A serious conversation about a specific topic

% Listening to a serious speech
» Study of language use above and beyond the sentence

% Speech on a specific topic
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Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

F =aTEaT AN & ¥ # U BT 31 g g
Options:

« T 3frse g & a1 7§ v MY aaEg


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda24T7

v TFT F TR AR W AT ITAT FT HeGIT FA

« T fafarse 9wy 9T #NoT &

Question Number : 291 Question Id : 16794310288 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

The focus of art in education is about:
Options:

» Teaching art forms

» Learning through art
% Promoting art

% Sustaining the art form

Question Number : 291 Question Id : 16794310288 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
e F For W BE B 7 @ Fw fw e

Options:

% ST & FT T Teregor
v AT & ATTH ¥ drEaT
« AT F FEET AT

% TAT & FT FI AT TGAT

Question Number : 292 Question Id : 16794310289 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Choose from the options below:

One of the best ways to integrate art in school work is:

Options:
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% By having separate art classes
» BY involving the art teachers while planning subject lessons
% By having separate art curriculum

% BY giving students home assignments
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Question Number : 293 Question Id ;: 16794310290 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Choose the right option from the list given:

The expanded form of BCD is:
Options:

% Bit Character Digit

% Binary Carrying Decimal

» Binary Coded Decimal

% Bit Coded Data
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“Common school structure of 10+2+3, with 5 years of primary and 3 vears of upper primary™ is suggested by:

Options:
« NPE
# SSA

# RTE

# RMSA
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Correct : 1 Wrong: 0.25
Choose the right option:

Which of the following is the major purpose of a teachers” classroom assessment system?
Options:

% Evaluating student achievement

% Reporting progress

» Providing constructive feedback

% Evaluating instruction curriculum
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Question Number : 296 Question Id : 16794310293 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Choose the most appropriate option from the list below:

Summative assessments differ from formative assessments as they are:

Options:
« Objective type tests

» Descriptive analysis with emphasis on effects
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% Written tests

% Conducted by a teacher

Question Number : 296 Question Id : 16794310293 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 297 Question Id : 16794310294 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Choose from the option below:

A teacher recorded the following marks (out of 100) in English for 20 students:
75, 54, 66, 58 /606,43, 48, 78,55, 81, 3276, 69.58, 54, 65J851 72, 71,74
Calculate the Mode and Mean.

Options:

o 54,62
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v et F 20 orEr F RBw EE # FRf@T 3w (100 # @) &= e
75, 54, 66, 58, 66, 43, 48, 78, 55, 81, 32, 76, 69, 58, 54, 65, 45, 72, 71, 74.
Hs(mode) 3T ATEA(mean) Fr 0T F|

Options:

, 54, 62
« 55, 62
« 54, 65

% Db, 45

Question Number : 298 Question 1d : 16794310295 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Choose from the options below to complete the sentence.

Maturation comes with:
Options:
» Learning and not with age

% Age and it’s not about learning
% Social networking and not only education

% Interactions and not just reading

Question Number : 298 Question Id : 16794310295 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Question Number : 299 Question Id : 16794310296 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Choose the right option:

The medical model of disability views disability as:
Options:
% A social problem

» An individual’s problem
% A Political problem

% Issues related to medical department
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Choose the right option from the list below:

A student on a wheel chair is unable to get on to the first floor due to the absence of an elevator. Which model of
disability is this?

Options:

% Medical

« Social
% Psycho-social

% Human rights
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